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Question Booklet Code SLRC'2024 Paper _ IV Question Booklet No.

A Roll No.

Time Allowed : 9:00 a.m. to 12:00 noon (3 Hours) Maximum Marks : 175 Marks
(1 mark each for 125 Questions Q.No. 1 to 125; 2 marks each for 25 Questions Q.No. 126 to 150)

Before filling the OMR Answer-Sheet, the candidate must ensure that all the pages from 1-80 are printed in order in the
Question Booklet and ensure that the OMR Answer-Sheet belongs to him/her only. In case of any discrepancy, immediately
inform the invigilator to replace your Question Booklet.

IMPORTANT INSTRUCTIONS

+ Do not open the Question Booklet before 9:00 a.m. in the Examination Hall.

* Read the questions carefully before marking the right answer with blue/black ball point pen only in the
appropriate circle of the OMR Answer-Sheet, as firstly, there is provision of negative marking per Question for
wrong answer as well as for selecting more than one option of a question (as it will be treated as wrong
answer), and secondly no extra OMR Answer-Sheet will be provided for any mistake or correction. The negative
marking for wrong answer of a question carrying 1 mark will be 0.25 mark and negative marking for wrong
answer of a question carrying 2 marks will be 0.5 mark. p

* In case of use of Non-Standard OMR Answer-Sheet, the candidate must properly write his/her Roll No., Question
Booklet Serial No., Question Booklet Code in the space provided in the OMR Answer-Sheet by shading and by
writing in alphabet and numerical on the front page as well as on the back page. Otherwise the OMR
Answer-Sheet will not be evaluated. .

+ Candidates will have to sign twice. Once in the Attendance/Roll Sheet presented by the Invigilator on duty after taking
their seats in the Examination Hall, and the other, at the time of handing over their Question Booklet and OMR Answer-
Sheet to the Invigilator after the completion of the Examination. Cases where a candidate has not signed while
submitting the OMR Answer-Sheet and the Question Booklet, he/she shall be treated as absent.

+ Candidate should clearly write his/her Roll No. in the space provided in the Question Booklet.

+ The candidate should make sure that the Question Booklet No. and corresponding Question Booklet Code is
properly written/shaded in the OMR Answer-Sheet by him/her. For example, in filling up the Question Booklet
Code, if the candidate gets Question Booklet Code ‘A, then he/she should fill up ‘A’ in the box provided in the
OMR Answer-Sheet and also shade the circle 'A’ in the OMR Answer-Sheet.

+ Candidate should do all the necessary rough work on the Question Booklet in the space provided. Rough work should not
be done on the OMR Answer-Sheet or on any other paper. If any rough work or overwriting is done or whitener is used on
the OMR Answer-Sheet, the OMR Answer-Sheet will not be assessed.

* In case of any discrepancy or confusion in the medium/version of the questions, the English version will be
treated as the authentic version.

* No candidate will be allowed to leave the Examination Centre during the examination hours.

*+ Any candidate found using unfair means including carrying restricted items like Mobile phone, calculator or any electronic
gadget or objectionable materials etc. which are not allowed in the examination halls/rooms shall be disqualified.
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OMR TEa9[@2e 7[5 19 SM9ICS IR (s (2 e7a (@ ol 5{fSF1T 1-80 C1 ANl 71 TN SRPAIE 2ol 02
TitE % Wi*ce F=a FAif97 @ OMR TEIe19ee (961 (D€A@ | (@Il 4391 o Qe sowale Rarsas
T9NS FE 2R PGL Fe FF 13 |

Qg foriaat

« 9[31 9:00 IWF TS ePFIFOL #ArH FFo T4 |

+ OMR Teeo[@a T JQrBre Nell/Fal TioRB (AT 9% Teah! Hize 419 wisire Hist A4 #ifp
NGF, P9 AT ATSTH! 27 To1 TG A W< GHTOlF W14 g Tea Fiivet w414 At (Reh o1 ver
et ste 91 2°9) eSS 779 AR == ST go 2 A wa FAce wfofae @It OMR Tea#iq el
TR | 2AfSTH! 1 THT 2! &I T T&d 1T AT 0.25 AN T <0 ATSTH! 27791 24! 2 T Ted AT
A 0.5 A6 799 AR

+  Non-Standard OMR T€37[@ 9291 CFa® AT WO (SETEAFH (e 751, HFTFOT FhiT
T4, eFIFeT FTLo! OMRTea[@d fAfne Jize F'a1l Ffaa wiifara w2 A2 2Bt =2 #Ied 7jBrs <5t It
WIF FRAT6F #1R OMR Tgaoigew Ffdweira 53¢ F{«a #ifa | S=yat OMRTeI2[aq Tz i 7124 |

« A ERRCE FarwE Wl TefRfs/ @ o wa1e Fwa F(1 AR, AR (SEEIS ATHTES S
2%° FIIF TS WS ST OMR TSIl Sl epieeee Harsas ol g 7oee | (I ARSI
OMR T&a7i@ @ e%isig Tl frid e T o e T 9961, (SER e (DS SoifFe 3 [l
79|

« AT e Tl iR 3139 (SEET (@I TE1 R Bl sl |

A RRve @A T AT erwimee T W FME ool 7T 79906t OMR Teaoaq Fie Jize
foral 27 | TwizRerTaC, eriFiTed $°T 276 T ANTS, AT A T4 LRPIFET T ‘A’ 2fFCET OMR
Teeoiaq S 3z ‘A Tifda anfae o= [iwe 3 A G v sl =nfae |

AL FFCA! 419 LTS U541 (rough) PN 2eFIFeS Tl SISz SR #A1fR7 | 2 _RIFIC <641 (rough)
N TGIAG T (FIC] 4190 Fl9Er FRA (@IRIRE | TeI9iaqe Tt @ 2541 (rough) T 21 HRIICH (S Sl
390 TR IR I(E, (STOAR T (O &[G TeTR 31 724 |

¢ 2 T ) TRFACTS (T 4o et Qe it 3fE coirare SRR 2Te TAG FFACHIIR 6
wg M alf F41 29|

SIS Bl 4 SRR (@I AR AT O TR SRt i w2

¢ IRFRTPREE SR %5/ Mg AN (@0 (RIS (I, (PRt i (I €769 ([Quifess AN
A GEeE I8 ATTHITHCA TS TS T @ | qW G AR T THA ST FE | ST
T TN SR WPER Gkl F0F, (S0% (9€F Sy o1 Res 341 23|
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OMR T&a71@fb 53¢t FFA1 T AL T2 %60 208 2@ (@ 2ioita 1-80 21T 3% 7piafe] @piia
(e 200z 3% 50 00 23 (F OMR TER9@D (e O Gy | (T 21 RoTes LRt SReTCy W mwacs
TRSS TR LA2GG WeT P (0 |

« FE 9:00 THH ATE eief@ #Frw FHCS YR |

+  OMRTERItad T[T JEB6Te Aet/FITEN IACAD (21 [ W e’ Dire Faaia otd 2mifs A oite
T, F1ae 2lewe 2ifSb et oo e (Mead o) @R arFe i [ Ter v waid o (Taf ge
TEq (e A FA FA) AANE T WA G3R FaSe TH A Fl wd FHEIE G (@Il Sfofae OMR
Te7lq ST A | 1797 AF &lfST 23 T Teq (SR T 0.25 A SIS 799 G3R 2 799 A aifeld
AT TF1 ©ed (MSTIE T 0.5 AN T AFCA |

Non-Standard OMRT&27iq IR (@ 2RI AF SRR SITia (et 154, 21| fFia i =19, 2| fEaia
et OMR Teaeitad fffS ZTa FITeT 900 A 4R ANCGR D € (AL 2D @3 eTeT @ar
ARATFI5F o102 OMR Tea+iafs AFeIta 5j7e Fare A1 A OMR TER2[Tad Jeaw F1 203 1 |

« oRweE MArwE (rea TAREs/ @IE #ita TEIF Hiw FA0e 203, AL S 2R HTCT S 2
TR T @R TSR OMR TEa9ig @R 2o [Narsaees ol (redid T | (Il A9 OMR
TEA7[q 3R 2P[d Tl (TSI I AW 70 (AR FrHE =1 SR, SIRCH ©i (& S 2IfFe A0+ 9l 1 (A |

AR 2ot el [Fffe Be ARESIr Sima @ 999 S2 f7740e 21|

T ffeee 2o Tive ATe erivitag THT @R M eisitad (e T OMR Teasitaa 7S Bt
(T 2 | MR, ARATT (T 776 T T, A~ eheioltad (P A’ AT OMR Teaitad
ffre =i A forate =7 @3 72 38 A 6 FiteT e =31

o ST e LA TG AT (rough) IS 290G (ST BT FACS AR | 2R 297G (rough) et
OMR TG Al O (I 4R FI9NE FACS AR 1t | I AT @2 43701 (rough) 1S OMR TER0a
I 1AM 1 IR T, OF (312 OMR TECE= LR 1l =0 1 |

AT ST A AHACS (T LA ST 20 WL QAR SRt 20 SAE AHADIR oiF© W e
Nef 1 AN

¢ SAJP FARPIET (I AL TR Ol TR Sfe e |
o AT 2K T/ FCF @I R AT (T (IRIZE (I, FIEFCE0F G- (P! @fess amiees i

wiolfea A 295 T2 T SIS (el @ 1 | AL T @I SPIR THAR S[eTw 00 (1l
I I o1 M TR SRS ATHIR FTPTR Geik S IR, O SITR Sl (1=l 91 23 |
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OMR ftret feretTs@t 31rel wremera fam=r, famforan st wemafer g, 1-80 fam midst faemgwr
Hiter ferstrarea Wi Yerat-ma § 3 OMR ff= faemgan maft ararae’ o sSrumEist wramafer g |
UTETHER S-S WTsAT Tifer forstreat Tremamr gt orare ArEfeiieEt aremr fafemn

T faen=
o T 9:00 Femt Tt Hifr foemg@t esie @umaTea @eHt AT |
« OMR fir faemef gramma sEaE e/ aeug< woms 9 e fam gematt farst
TIfoREr WSS WA @R, AT AforEre: mewemet Sifatt mafer frat arama e deat
ifae fr A [t arEr (SR, MRt fR THEEE S ) S T e IR At
TR~ SATHEAT ST T8 AT TGS Wil ST (R faelTs SFTE SH™ ST | JiF%id 1 81

o Wit MAfeer frratT 9mET 0.25 TFE’ AR TR HIMWhIN 2 Tl o |t mafer fte
BT ARG 0.5 TG’ T AT |

« Non-Standard OMR Tt fareTrg gt fafereTta fasnforar e maft W@ T, ity faemef wit
., Gifyr faemsf sewEr OMR fFe faemsf Sramma srermare M @rerET @ e farfaft
foczame o SAfusmatT faezare dFa @@t 3Rl foam (smfmr) faem 9T g wremEt
A | TSTsAT OMR R feremgEt e e S -1 |

o faTamRIRT Tas GfEg 2 T | God THSIE GUEE BET e Td SR St e fosmme
faremg 3t OMR fitre faegEt TamaAE Ta | OMR TR foemms o1 i faemsat emamm T fasmfern

F'[%'_&;TWF@W r®l¢ll SIESIHE! \TIGII{Q‘-II"I HEEIERIGIEGIRZESIIGE
o ity faezae 2MmE e s festemn TEm e o TweRE! fa e |

« ity faemst TR M ity facnef s @t OMR fRe faemef Sremm s faamat
R fersierar I s e fafefer aifed, Gita faemst @ one Erem e |ure feemtern
T Gityr faemstt s ‘A SEser OMR iR feemsf gramma sarmare ‘A faer =i e
AW SE= ‘A T ET Sy T |

o foenfermr migst IEmf T SR WA TR (rough) TG Qi faemst Sramm srermerers
WA A | fsforerT e TR "t i faere wen fafe 1em Jhmtt o faegama
WA B ST TR foemsams o Qe TRFARE™ (rough) @rETfRat farsifern wrerisen T foret
ferfa (overwriting) BTEATHISAT TaT TTHL TMeRAT (whitener) OMR TR feremzamar wiHIse & OMR fte faremsat
AR S ST |

o Wity foemet fosi Tan wWHEAEe el TR ATEeAr T Ji HA-rre a1 Srarsel g
A RIS FWiFer faemg@i=r s gea THEET A S |
o AR WfAEER AR FHE Taa fosierg! sTsmerfe MR i TR SR S 727 |

o STFSTETIfE/ATaTe FRa forsTersRT e M= gar Sk el %, shetghelel e fafe @i AR seishefTeh
a1 sTeree faf fasmferdt <FH 2 S |
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OMR ST-T=eh ol WA | Uget wdrgnelt org gffyea ot o fon wo-gfqant # 1-80 a0k |eft U8 shomrgam
Hfea ¥ aer 7% off gifyem ot of foh OMR STR-Ueh shaet S & Haitea &1 ferdt oft fammfa ot fearfar
H 1O WoT-YRaeRT sIger ¥ dehtel fRiereR sl gierd i |

* TTE: 9:00 SIS W U THT-heT W YyT-Yfeaehl T @i |

* OMR STR-UF% o SUIRhH I | U@ TN okl ot/ il dier-wrge U | fafed & | ud, |sft wo=t
I SATYdeh UG &, ShIRUT YIUA: TeTd SR 3 Teh & W9 o Ueh § S1fueh faehed & =& &9 W
(518 T 3T U S0 ) TehRTeeh 3ieh Rl WA & 31 fgetaa: fondt oft were et TTerdt s1eram
HuR & fog stfafs OMR ST-user & fear @) u&iek 1 3feh ol U9 o T 3T WX 0.25
TR 31k 3T Yk 2 3ieh a1l W9 o TTeTd ST WX 0.5 TehRTeeh 3ieh € |

« TX-HTeh OMR ST-USeh oh STEER o WAl W, Tamell i AHarid: 3TuaT U o), Yy-giaent
ATk, UIT-YRAehT shis OMR ST-UAeh § fGU T T & BTHifehd ST G Gl Ueh JUIHTET 3{T
HEATHE ®Y OMR ST-UF ok 3TNl 3T We ot U o foamm M1 3r=gem OMR SXR-UAeh <Rl
IR el TehaT ST |

o gitenfeat et frarer g S 8 Sufkerfa et 3ite WSl o) STe i B, Teel 9R wTe gdtenelt alter-
Fe B O W W I3 WY e, T THA aR FRIereh bl JeA-YfaTeht a1 OMR SWR-95% Fid- & T3 |
3R foheft wiemefl 7 OMR STR-T=h a2 WeA-YRehl Tiqd THT BEAIER Tl U, T 39 STdfkerd T SITa |

o J-gikgent § e v o gdanelf sma e o) = w1 A fag |

o gitemref @ ity X of for 3ok g foredt =it wy=-gfaeht W qen Wia Ug-Yfdeht sis OMR
IAC-UFH W Hel &1 ST TWEY, UIT-YRAHT RIS hi WA T, TG TLreTelt i U9-URaeht shis
‘A TS, 9 OMR 3TR-U=eh H QU 1T aiferd 1 ‘A’ ToT@T 8T 9T OMR STR-Ueh | ‘A’ Shl STEIThd il
M

o TRieTeft Ff TE BT I (rough) 1 T-JRaehT H U 7T T IR X Hehil | Th 1A OMR SW-ToAeh A1 373
forelt TRE o TSl W T2 B Wehil | Al FIg TH 1 AT AT OMR STR-T5h TR fohaan 721 =1 foistah
1 JA fohal 1, A OMR STR-T5Ih 1 Heih el TRl ST |

o YUYl ok HTLAH/AERIOT § fordt ot fadwfa ar yw =t fearfa o 0 H&eruT & Wt 3em |
o TN & SRE fREt oft gdemell w1 wdien T Sred wt eufa T ¥

o T IS wiemefl Tora AT ST U IR S © 27 Ufasifia Sl T S Hiesd W, Shegere] a1
et e 1 Agfas Al STeren st a%g onfe, feht wien eict/wet § s1ufa T €, @ 39 s
HIAT ST |
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1. Which of the following countries does not exist presently ?

(A) Switzerland (B) Czechoslovakia (C) Germany (D) Poland
1. SRS @ (R TS0 AN SifEyg w3 2

(A) DI (B) TNt (C) wINiw (D)  (CAETS
1. <d @ e T8I Sy #7132

(A) EEEETS (B) e (C) i (D) CoAleTie
1. TR 99 g At fifern 2

(A) HEoReTS (B) =& @i (C) MM (D) Toe
1. f=fafed § 9 S9-91 29 gdaq | e § T8 § 2

(A) TEsels (B) <rdEnRAl  (C)  SHA (D) drRig
2. Which state is the official sponsor of Hockey team of India ?

(A) Punjab (B) Odisha (C) Haryana (D) Uttar Pradesh
2. (TR AT OO T R BB SICAITS 2

(A) HAGR (B) Sf==ml (Q) ZfEI (D) T oo
2. (W AIST SRCSA 2 WETR TR SICNTE 2

(A) AgR (B) sfeH (C) =M (D) Ted Ao
2. YA 'feh grem 9REi Hee 2R TS o ?

(A) =TS (B) 3fed (C) I (D) W YW
2. XA i Bieh! A 1 AR HTAISTeh hia-H1 T6H € 2

(A) TSI (B)  aiifesm (C) = (D) W W

3.  What would replace # in the sets ?
{5, 120, 3}, {9, 630, 5}, {9, 810, #}

(A) 8 B) 7 € 6 (D) 4
3. {5,120, 3}, {9, 630, 5}, {9, 810, #}

TS # bz [Fg Afogionm 1 2

(A) 8 B) 7 <€ 6 (D) 4

Y

3. one Afoufhre # Hebe 2w St dfegifre o 2
{5, 120, 3}, {9, 630, 5}, {9, 810, #}
(A) 8 B 7 € 6 (D) 4

3. {5,120, 3}, {9, 630, 5}, {9, 810, #} YIXHRIE # W AISIl TG T 2
(A) 8 B) 7 € 6 (D) 4

3. "HEA {5,120, 3}, {9, 630, 5}, {9, 810, #} H # T T FAT T ?
A) 8 B) 7 € o6 (D) 4
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4.  What should correctly replace @ in the grid ?

13 [ 450 30
21 @ 8
32 | 782 23

(A) 196 (B) 184 Q)
4. fove 43l @ B! [z afegioe I ¢

13 | 450 | 30
21 @ 8
32 782 | 23

(A) 196 (B) 184 ©)

4. SHIE @ FE (@G AdFed AT =@ ¢

13 | 450 | 30
21 @ 8
32 782 | 23

(A) 196 (B) 184 (@)

4 @S o G e 2

13 | 450 | 30
21 @ 8

32 782 23

(A) 196 (B) 184 (@)

4. fUs ¥ @ % &t dl% ¥ F SISl =fey ?

13 | 450 | 30
21| @ | 8
32 | 782 | 23
(A) 196 (B) 184 (@)

214

214

214

214

214

(D)

GET IT ON
Google Play

658

658

658

658

658
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5.  From the Constitution of which country, the concept of residual powers in the Constitution of
India has been borrowed ?

(A) Belgium (B) Canada (C) France (D) Switzerland

5. OReIq FHYTe SRR O QREl (SR (I S9N @I a0z 2

(A)  (@EfeRS (B) @l Q) ™ (D) LIS
5. S0 TR SRHB FoR 4Rl (@ MR TR (2 417 9 TR 2

(A) (@@ (B) @l Q) T (D) eSS
5.  9FEl @i BFeiferdl YAt Sfefeeme 9t o« gekf+ Giafsef e o [ e Sie 2

(A)  dafsEm (B) RISl (C) WM (D) HEIRaUE
5. 9Rd % GfayH ¥ Syafyre emansti st eraren foed <9 & Giaws 9 of T 2

(A) dfesem (B) TSl (s (D) fEEsReie
6. Who amongst the following is a wrestler ?

(A) Baichung Bhutia (B) Lovlina Borgohain

(C) Sushil Kumar (D) Karnam Malleshwari

6. fnfie @RI 9 TEEE! 2

(A) <R ghH (B)  sTrSfmI <=ola®

(C) P T (D) s St
6. FRFEIRSTR T (& 9Few FBAR 2

(A) 2R gow (B) @l <eoleE

(C) T g (D)  SFIFIN =
6. TRAM R a1 GHETIUT ?

(A) =g yfem (B) eAvfer = 'ETg

(C) ¥ $HR (D) HIUMH Heelger]
6. Trfafead & § &M FHediars €2

(A) @G yfe (B) AT SRS

(C) Heia FAR (D) &0 wearRad
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7. Which of the following travellers had visited Kamrupa Kingdom ?
(A) Fa Hien (B) Hiuen Tsang  (C) Al Biruni (D) Marco Polo

7. F=FlRe @F [ oRass Feeel ey o R 2
(A) e (B) 2w Bk (C) eI (D) W oIcA

7. Tz Tamie @ sifiaes smmet qien sl safzee 2
(A) w-ferw (B) fRSE-le Q) SH-EF (D) SR CotieeT

7.  TEMEE BHE d¢ 90 e HHEq TS AR Heige ?
(A) e (B) fesw =i (C) T ot (D) TR drell

7. Trefafea § 9 forg 9o 3 wHey 99T 1 S fe o ?
(A) HRIM (B) & M (C) 3T J&Al (D) TR drell

8.  Identify the water reflection of the given figure.

[ _ 7 1
™| A e T

8. e bus T efowee Bacs! e 3= |

i)

o

[ _ 7 3
1 o

o
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8. ona brad e AfSTee Fe 3o |

-
L

.
o

(A) i\ (B)

8. feuwm faz & 1 ufafsia =1 9g=m |

)

?j (B) :I © ?j (D)

9.  The remainder when —46 is divided by 3 is :

o

(A)

A) -2 B -1 © 1 (D) 2
9. —463 3 (3 [ TR &AlY SHRG! (2R 2

A) -2 B -1 © 1 (D) 2
9.  —46 (3 3 B Ol FACE SRR AT ¢

A) -2 B -1 © 1 (D) 2
9.  —46 T 3 S TIsAT ATCAE TGS

A) -2 | -1 © 1 (D) 2
9. & —46 i 3 Y fauifer foran Sian 8, o 99wa ©

A) -2 B -1 © 1 (D) 2
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10. The product of the mean and the median of the data set1,0, —5,3,0, —2,4,6, —4,1, 2is:
A =l B 7 C o D 2
10. St 1,0, —5,3,0, —2, 4,6, —4,1, 27 oG < TS o702 2
A =l B 7 C o D 2
10. S ARG AE© 1,0, —5,3,0, —2,4,6, —4, 1, 2 &3 VG G LT BT Z6 §
N B o £ D) —
(A 35 B 13 © 3 D) 1
10. @A™ 1,0, —5,3,0, —2, 4,6, —4,1, 2 7 oY 30 AT AT
N B o £ D) —
(A) 35 B 13 © 3 D) 1
10. AV 1,0, —5,3,0, =2, 4,6, —4,1, 2 F HI&A IR Wfearsht T OEFA ¢ :
A =l B 7 C b0 D 2
2
11. 16% of (16 +16)" ;.
16 x 16
(A) 0.16 (B) 0.32 (C) 0.48 (D) 0.64
2
11. (16 +16)" q169 g3 ¢
16 x 16
(A) 0.16 (B) 0.32 (C) 0.48 (D) 0.64
2
11. (16 +16)" x169% ze1
16 X 16
(A) 0.16 (B) 0.32 (C) 0.48 (D) 0.64
2
11. (16 +16)" 5169 @t fag
16 x 16
(A) 0.16 (B) 0.32 (C) 0.48 (D) 0.64
2
11. (16 +16)" =7 160 qum 3
16 x 16
(A) 0.16 (B) 0.32 (C) 0.48 (D) 0.64
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12.

12.

12.

12.

12.

GET IT ON
Google Play

Name the Mughal emperor whose army was defeated at the Battle of Saraighat.

(A) Aurangzeb (B) Shah Jahan (C) Babur
*J[2A63 T@© #IFITR I99 T Q91 AHOG (FieT 2

(A) BR(EH (B) blzER (©) =
AT J07 (@ N9 FHIG #[A1Tere 2R IR w13 & |
(A) SR (B) =iz (C) R\
GUEETE SR TSR Hoe HHIET HIH M ?

(A) SRSE (B) I SEH (C) @R

39 Tl WU Tl A Sa1sT Feh! T INEHR o I | oR Tl off ?
(A) i (B) VeSTEl (C) @R

(D)

(D)

(D)

Humayun

eIkl

Rkl

13.

13.

13.

13.

13.

Which of the following is NOT an Assamese novel ?

(A) Adha Lekha Dostabez (B) Deu Langkhui
(C) Xekh Pristha (D) Ontorip
f=fifee @R 9F SPITR ToReT w2g 2

(A) ST TS (B) (WS RYE
Q) T 7l (D) w9l
TR (@ TP ST 7 2

(A)  SIlEl @14 (IS (B) (MG FIgYE
(C) o = (D) =@t
TR F&1 STEHAT ¥ |l ST ?

(A) e feran gt (B) <9 AIgs
(C) 48 g= (D) 3T=<aRg
freafafad 9 9 sE-w1 Taf U= & § 2

(A) ST oG SEa (B) <SITEE
(C) 39 g (D) Sy

14.

14.

Three numbers A, B and C are such that the HCF of A and B is same as the HCF of B and C. If the
LCM of A and B is three times the LCM of B and C, then the ratio C: A is :

(A) 1:9 (B) 3:1 ) 9:1

(D)

1:3

TG 7124 A, B 9% C GWE SNCZ TCO A < B T 5911 B i< C T 5P (A0S A | I A <19 B

I B R C 9 oP7ed fofl @6 27 (o8 C: AT ¢
(A) 1:9 (B) 3:1 (€ 9:1
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14. A0 72T A, B 93 C G5 (@ A €3 B &7 9711@, B @3 C @3 907G Sl | TM A @38 B @9 o7 B 3%
C 93 #7129 foTes 20 O SRie C: A ([ 3
(A 1:9 (B) 3:1 < 9:1 (D) 1:3

14. A, B, C HfSHRT @M &t A T B 1 Temamn =1 B i C 7 Teman s wam 1 Sfg A s B f7
ILEL A B AR C 1 g 304 1 Aesmermem, stee C R A 17 e5jemn

(A 1:9 (B) 3:1 < 9:1 (D) 1:3

14. 1 & A, B 3R C UEt € foh A 211 B o1 Ueaq 9HI9edeh, B 31X C o1 Heaq TH9edes & 99H 81 Ife
A 3R B 1 oT[@9 GAME, B 3R C & oIo[@™ GHME HIdH TATE, O STId C: A © :
(A 1:9 (B) 3:1 < 9:1 (D) 1:3

15. Who amongst the following has been awarded the Gyanpith Award in 2024 ?
(A) Gulzar (B) Arup Kumar Dutta (C) Ratan Thiyem (D) NilamaniPhukan

15. xRS @ s_IS R 2024 I© @S 6! 2%l 91 1208 ?
(A) @SR (B) wEoIFAIWTE  (C) oo W (D) <eTfe T

o

15. 08 TEfem@ e & 2024 A @A 2FRIE S 2@ ?
(A) TSR (B) SRAFAMWE  (C) el RAM (D) T Fa

15. 2024 HEIEM JAUES TFE TR GEA 8 SE) 2
(A) TSR (B) &I FHAR ST (C) T fomm (D) T\l gerd

o~ o e

15. frfafed § & f8 2024 % JEHE R ¥ wrifa foman men €2
(A) TSR (B) EIFHAR T (C) T fom (D) ierEfor ek

16. Yesterday just after sunrise Rajiv met Samir and was talking, when Rajiv noticed that Samir’s
shadow was seen towards the right of Rajiv. Which direction was Samir facing ?

(A) South (B) East (C) West (D) North

16. @R v O fPrere IGIE Tee 91 212 Sl 2iifs ATe ISR 7% FRE @ A1 Q!
IGRA G FICA AR TANE @ e 2 I oiifea 2

(A) W (B) = (C) 6w (D) T

16. TSI MR 292 AG K AINER A5 (7 F(E Al EA(eE, 04 G 7% F961 (I AN 2 AG I
TN e et vz | TR (i e 320 503 fzeT 2

(A) Wl (B) & (C) =If*ow (D) &=
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16.

16.

GET IT ON
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T O @A™ 3G qfSten TR@l drit /1 TR TEeers aFeEe afsen 399 f§ afmf armet

TfSaf smTerfel Tiverdl | Tty sfy Hrai SeEe ?
(A) e (B) HrSIY (C) HHmEfy

Ry

%ol YART h Ik d1% Teid FHR § e R 9 o @ 9, aff T 3 <@ foh Tk a6 WeE TS 6

et iR fomrE § @ off | TR o1 g forg feon & o ?

17.

17.

17.

17.

17.

(A) TfEm (B) TUd (C) dfy=m

Which Hindi poet is known for “Madhushala” and “Agneepath” ?
(A) Ramdhari Singh Dinkar (B) Haribansh Rai Bachchan
(€) Sumitranandan Pant (D) Maithili Sharan Gupt
(NIRRT 0l SR T B “Sifaisied” AR ST 2

(A) IS PR e (B) =<l i o5

Q) IFAh@ve 7% (D) CfeE! bRt &g

i 2% IR T @3 “wferea” T Sifbe 2

(A) T PR e (B) A= AT A

Q) IFAhl@ve g (D) CfeEl *[el @

AR Tt Tremsfitian * Ayemen’’ R sifiquafq’" amam fafusm ?

(A) AR T feTe (B) ®Re® ¥ =

(©) g T3 9 (D) Hfereft w01 T
H-1 it wfa  weEmen’’ 7R sifiaer’! & fore ST S € 2

(A) Tmu fie feTe (B) &REW U o=

(C) Yo dq (D) Hfereft w1 T

18.

18.

18.

18.

18.

The product of two binary numbers 101 and 10 expressed in binary numbers is :

(A) 1001 (B) 1010 (C) 1100

U0 &o 2elleT FR27 101 WNi% 10 I 26IFe] o 2lelfeTio 2ipi| FiRce] 279 ¢

(A) 1001 (B) 1010 (C) 1100

w3 s AN 101 @R 10 G @eia1 BT AR *&oTe 2w F0e “fem T ¢
1110

(A) 1001 (B) 1010 (C) 1100

1110

1110

T SASEHER S 101 3R 10 f7 FFSTemaE! sHAfSHHa AfsmEe BRAEs ¢

(A) 1001 (B) 1010 (C) 1100

1110

T fgememd demsii 101 3R 10 =1 oG gl densti § T o foran s € -

(A) 1001 (B) 1010 (C) 1100

1110
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19. Kalbelia is a folk dance form of which region of India ?
(A) Kumaon region (B) Chota Nagpur region
(C) Konkan region (D) Thar desert region

19. JIETEERI SRS (i TS (RO 9l ?
(A) T ST (B) (RTFIN?F SI%es
Q) SRR (D) 29 TG w=ee

19. SRR SRCSH (P SLER G0 (@] ?

(A)  FF w26 (B)  (RG IsIofq w1ea

(C) T« S (D) <= RPN s
19. HOSTAARE YRAM F6 AFHAH g9 HJbEE 2

(A) FHHS SAHA (B) BT AR e

(C) whehd TG (D) ¥R STl &1 S
19. HrSIferd YA & T &5 1 Aiehgcd 1 Sl 2

(A) FHS & (B) BRI &%

(C) hikYT & (D) IR I &=

20. The average of 9 observations was 9, that of the first 5 being 10 and that of the last 5 being 8. What
was the fifth observation ?

(A) 8 (B) 7 Q) 9 (D) 10
20. (I 9 B =09 51G Wi 9, U 5 BIF 91T T 10 =<k (*17F 2IT55 9T W 8 | A% #[=ei7 W
oifeet
(A) 8 (B) 7 © 9 (D) 10

20. 95 “Ricawced oo 7 9, 223 5 B9 10 W32 1w 5 B2 8 | ofes #Riamwells F) fe 2

(A) 8 (B) 7 Q) 9 (D) 10

20. HM 9 THEAEERRE TS 9 famifEa "9 5 1 T 10 o AT "4F 5 fen 81 &' Y e o) ?
(A) 8 (B) 7 Q) 9 (D) 10

20. 9 ST o1 STET 9 o, T 5 T ia 10 o 3R Afaw 5 1 3fraq 8 AT\ UiwAl STecieR T ot 2
(A) 8 (B) 7 Q) 9 (D) 10

21.  Which of the following colours is NOT seen on the Olympic flag ?
(A) Green (B)  Yellow (C) Orange (D) Black

21. W59 sreiFae ARRe @G 399 ¢l T 2
(A) CIEEgE (B) =&qRI (C) vgfeat (D)
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21. TIF @ 760 S Afoiw @l AT 2

(A) & (B) =W (©) =& (D) <rC=
21. Attty fRftRemame se mmren = ?

(A) e e (B) Tl TS (C) hHe T (D) T e
21. fr=fafea § 9 wE-m 1 Acifs s 3 @6 femar € 2

(A) ' (B) dfem (C) Rt (D) <hTeTl

22. A metal sphere of radius 24 cm is cut into 8 equal pieces and one piece is melted in the form of a
sphere. The radius of the new sphere is :

(A) 12 cm (B) 8cm (€) 15 cm (D) 10 cm

22, 24 (5f APNZI GBI GIeFT (NS T TE 8 ©lol T4 T W<: TN TCI9F 7T IF (9T SFFow
SENE (TN T | T (ST APAE 23 ¢

(A) 12 &N (B) 8 Gof Q) 15 &N (D) 10 i

22. 24 CLI. IPIET @6 4o (GIFTRes 8 T Ao ©Ital TR 1 = @R G0 TR (S S
SN 2T | ToeT (oNETFT AT 2 ¢

(A) 12 @I (B) 8 Gifl. () 15 @i (D) 10 @I

22. 79 24 9.f. 9'E@ T 9 SAE! TH 8 GikieTd FREAE s |- faft 3ea gt sTafa 8 gt
Y A ST | o TMeH U 9 el s 2

(A) 129fm (B) 8u.fm (© 159fm (D) 10 &.fA

22. 24 QA 50 91 Tk U1 % Tl i 8 SR el § Il ST & 31K Th Ihe ol Tt & &9 | fysretman
ST ® | T e 6 R R

(A) 12 .. (B) 89 (C) 15 9. (D) 10 &.45.

23. In Assamese literature, who is known as the “Dhwani Kabi” ?
(A) Binanda Chandra Barua (B) Ananda Chandra Agarwalla
(C) Mahendranath Deka Phukan (D) Mafijuddin Ahmed Hazarika

23. P AfRere (@ “®/iF K7 sl T 2

(A) R be <=l (B) Sl & eIl

(C) WL (THITI (D) wIRrgfwe NRem FSRH
23. SR RS & “®id R A0 sifdfoe e

(A) Rew vm =@ (B) SN b SRS

(C) 2L (T T (D) Sifrereiue S2rsm S
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23. A YAagad, W) el wia’’ gei fafesmn ?
(A) o< =g o%d (B) A< == 3ANATe
(C) HR=AY Shl b (D) WthsEfET 3MeHT B ‘e

23. erEfhE wifec | A e’ & T 9 fRg S S § 2
(A) o =g swen (B) A< =g AR
(C) W& Soh1 Tk (D) HAMASEN 3TEHT BTG

24. Rearrange the following components to form a correct sentence.
i)  where no man had

il here we are strolling

~"

iii) ever set foot before

(
(
(
"
(
(

~"

on the surface of the moon
(i) - (i) - (iid) - (iv) (B) (i) - (iid) - (i) - (iv)
(if) - (iv) - (i) - (iid) (D) (@) - () - (iii) - (ii)

iv
A
C

~— ~— ~—

25. Which country are Kira and Gho the national dress of ?
(A) Nepal (B) Cambodia (C) Bhutan (D) Vietnam

25. 391 9% (@ (@9 (R T IT AG-(oEF 2

(A) oI (B) =¥ (C) oo (D) TGN
25. fRal @3 (A1 GRIR (RO SO R (A 2

(A) oI (B) =cHlm (C) oo (D) ferre=s
25. R TR N1 3T 919 BIEXM SRR THd ?

(A) U (B) ke 'fea (C) Y (D) fwada™
25. o 3R = frg <o =t Ui i © 2

(A) Ui (B) shalfea (C) YeH (D) foardm
26. Which of the following is NOT a non-metallic mineral ?

(A) Silica (B) Limestone (C) Bauxite (D) Dolomite
26. =R (@R S-aiex 4fe omief T7m ¢

(A) foferst (B) geif@ (C) ;D (D) TG
26. G (PN S-ae dfeier 73 2

(A) Frferml (B) pelisiie (GEEEIEY (D) TCAIES
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26. TS S YIAfS @i oHg ST ?

(A) fafass (B) g 3T (C) whumEe (D) <a'HAEe
26. Tr=fafed & @ SH-91 te qunfas ks & 8 2
(A) TEferen (B) IAT-Teer (C) dwieEge (D) SRS

27. Which of the following is correct ?
(A) Volcano cannot exist underwater.
(B) Sea does not have any water current.
(C) Almost 70% of earth surface is filled with water.
(

D) Land mass is almost half of earth’s surface.

27. WRRRS A2 @NE eT 2
(A) SIRFER ANR weTe IS AR @RIE |
(B) IS (I 4F°[ AT Gif® TLACF |
Q) +feSIT THfSR &l 70% ot 2T SR Sz |
(D) 7RI THRCIT AR W@ e gLE |

27. % TS @A wn 2
(A) R I SAERPER A 2A10F
(B) IMCER (I SHIH© (2|
Q) T 5 2=’ 70% ©o Tiea 7|
(D) <|fAS 27 AT SEF Ferelal |

27. TRMAEM Serl OR ?
(A) 30 drEreT § feeTa omn
(B) TRl Sialt € SRR T |
(C) WM U= 70% STEFISTHI < S SHaH |
(D) T-Wr<1eT g-H|H I8 @ed |

27. freAfafed § 4 aR-T @@ €2
(A) SATATE! I o 1S HiS[G el 1§ Hehdl |
(B) YR W g STAURT el |
(C) gt i TR I AT 70% AT IHT F o1 g T |
(D) 4T Yol T TAE 1 TN ST g |
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28. Which present region of India did King Lalitaditya (Muktapida) have his empire in ?
(A) Northeast India (B) Kashmir region
(C) The Kutch area (D) The Deccan region

28. IS SN (i TS I AGTONME) (TS W) T AFST Sfee ?
(A) TEoReRe  (B) IS S (C) FoRoE (D) WifEpeTey Seea

28. TSN SRCSA (I S Aen Fflereifrrer (e wrey fes 2
(A) Te-sFeome  (B) IR S (C) IvEI (D) WifsFeirey S

28. YN Afciaifeed (FafeT) T ArmEsiiet iforare vRaH o« g ?
(A) H-UEST ¥RA  (B) HRER i€ (C) %o 38 (D) SRk HE

28. NN Afcdifced (HeTdTE) sl THST WRA o fohd ad9M &5 § o1?
(A) AR 9Rd (B) HEHR &= Q) F=3 & (D) TR &

29. Identify the pair which does not follow the common pattern.
(A) 6:OXYGEN (B) 5: ARGON (C) 7:CADMIUM (D) 8:BROMINE

29. T(IZO BT SFpRel 1eal (TRICH! oelie T |

(A) 6:0XYGEN (B) 5:ARGON  (C) 7:CADMIUM (D) 8:BROMINE
29. @ CEICID A T (S7GH) SeRel T¢I A OIS biers e |

(A) 6:0XYGEN (B) 5:ARGON  (C) 7:CADMIUM (D) 8:BROMINE

29. S ST TEARRANG TE fRme | e g’ ?
(A) 6:0XYGEN (B) 5:ARGON  (C) 7:CADMIUM (D) 8:BROMINE

29. 3T SIS I UEEH L S AR Y2+ 1 UTe T B § |
(A) 6:0XYGEN  (B) 5:ARGON (C) 7:CADMIUM (D) 8:BROMINE

30. Who amongst the following has not won the Jnanpith Award ?

(A) Birendranath Dutta (B) Nilamani Phukan

(C) Hiren Bhattacharyya (D) Mamoni Roisom Goswami
30. fRMIRIS (P SIRIFICE @inTo 51 sTfe 1 TR ?

(A) =L e (B) <ieTfel T

(C) N SEHRG (D) S =R CsirErn
30. IR TERetR W (F @AY SFTHR TS FE 2

(A) TEEIL T (B) TRl T

(C) &&= o (D) IS = CoirRs
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30. TEMEE B ER WA JEYS Sl HiEng ?
(A) TorsTa s sl g
(C) f& et T S T T
30. Tr=fafed § @ foram IMdIe R & a1 § 2
(A) g ga fremfor Gend
(©) fer wemm T o e
. 1+242+343
31. Find the value Of1+2+6\/§—+4\/§'
1 1 3
(&) ¢ B 3 © 3 (D) g
1+242+33
31. 1+M—+M<Wﬁcﬁ@¢|
1 1 3
(A) 2 ® 3 © 5 (D) ?
1+242+33
31. 1+M—+Maawﬁ°ﬁszl
1 1 3
(&) ¢ B) 3 © 3 (D) ?
1+2v2+33
31. 1+M—+Mﬁﬂﬂﬁ§=ﬂ
1 1 3
(&) ¢ B) 3 © 3 (D) g
1+242+343 -
31. 1+M—+Mwnﬁaﬁa€i.
1 1 3
(&) ¢ B) 3 © 3 (D) ?
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32. Which Assamese movie is based on Bhabendra Nath Saikia’s novel, Ontorip ?

(A) Pratidhwani (B) Krishnachura

(C) Barua'r Xonxaar (D) Agnisnan
32. SEAIR TR THATA ST@/#/7 T2 SATS (T ST (@6 Whife 2z 2

(A) dfewf (B) FapUl (C) IR AL (D) SIfare
32, (I SPTIRI bAMbam S il *BRE @77 ToRT SRR s ?

(A) «fowf (B) FpTl (C) IR AGI (D) IR
32. TRMM 9 ST FEYA WoiEA Fefhal 9a |l $7=aRy/7 qame fae Qe ?

(A) wfdsa (B) HWREI (C) o%e T HER (D) SAfEM
32. HH-H AT fhew weig T Sferan & SUE $qRIT WX SMefd § 2

(A) faea (B) HEEl (C) B3R HER (D) &M

33. (1% of 1)+ (2% of 2) + (3% of 3)=?
(A) 0.06 (B) 0.6 (C) 0.41 (D) 0.14

33. (191%)+(292%)+ (39 3%)="
(A) 0.06 (B) 0.6 (C) 0.41 (D) 0.14

33. (199 1%)+ (2 &9 2%) + (3 & 3%) =2
(A) 0.06 (B) 0.6 (C) 0.41 (D) 0.14

33. 1TF1%)+2M2%)+@ 3% )=?
(A) 0.06 (B) 0.6 (C) 0.41 (D) 0.14

33. (1HT1%)+QFH 2% )+ (3 F3% )="?
(A) 0.06 (B) 0.6 (C) 0.41 (D) 0.14

34. A curved waterbody formed when a river changes its course to take a shorter path is known as :

(A) Archipelago (B) Isthmus
(C) Oxbow lake (D) Delta
34. a1 GG 55 A2l 770 9ifS T SR 07 (@1 51 IF TETSIT @R 2T 8
(A) @lsi7lg (B) @&
(C) SraIZn (D) 3-a7
34. G0 Tl 7L O 9MfS7I2 ARIE FR (@RI 72 (77 0 (@ IFFIF TAMIT 9I0S 27 OIS A ¢
(A) "I7%g (B) Q&
(©) Moz (D) <-4l
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34. SN G A AR ST S i SR arfe Tedi SRl TSI
(A) Teu ger e (B) ® Y
(C) TNIg SRR feretren (D) =-fqu

34. @ hIE QI DI T STIAN o T ST A1 St & dl o ot SHTIRR STl oh el Sl @ :
(A) B9 98 (B) TIASHEHL
(C) T (D) e

35. A cone has a base radius of 4 cm and height of 9 cm. The volume of the cone is :
(A) 36w cm® (B) 48w cm® () 13w cm® (D) 24 cm®

35. Bl *It39 ST PG 4 (5.1, 1% 2 Tl 9 (5.0, | *IFCHI SIToeT (202 ¢
(A) 36w @3 (B) 48w .3 (C) 13w .3 (D) 24w &3

35. 3 *5A Gh-PIE 4 ELAL @32 Tl 9 G | #1563 Sies == ¢
(A) 36w @3 (B) 48w M3 Q) 13w @3 (D) 247 @3

35. 79 Se TEEk wEmEn 4 9.0, o Semga 9 A4 | 9 Sergf IS s ?
(A) 36w 9.fa3 (B) 48w G.ful (C) 13w G.fus (D) 24w Q.fa3

35. U Vg & MR & 5591 4 A, IR = 9 QAL || Ui 1 T ©
(A) 36w H.H3 (B) 48w H.HI.3 Q) 13w q.H3 (D) 247 9.3

36. In which city is Dalal Street located ?
(A) Kolkata (B) Chennai (©) Hyderabad (D) Mumbai

36. WA 5 (FINAT IS SRFS 2
(A) FHrel (B) (oW (C) ZRRM (D) 12

36. WIET (%0 (i 2 SRFS ?
(A) Tl (B) (vaIR (©) FaIRM (D) IH1T

36. Tad f&ger @1 ?
(A) HerhTl (B) =g (GIRRHES (D) H=IE

36. T T fhyg et H Red €2
(A) RICThTT (B) == (C) T=TER (D) H=E
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37.  Simplify : \/51 + \/134 + 5442 + /16 + 9
(A) 15 (B) 12 (€) (D) 16
37. I IF 8 \/51 1134 + 542 + V16 + O
(A) 15 (B) 12 (€) (D) 16
37. IR F ¢ \/51+\/134+5J42+M+\@
(A) 15 (B) 12 () (D) 16
37. \/51+\/134+5\/42+ﬁ+\@ Gl T el :
(A) 15 (B) 12 () (D) 16
37. WA R : \/51+\/134+5\/42+\%+ﬁ
(A) 15 (B) 12 (€) (D) 16
a 4 6a + 2b .
38. If 53 then the value of 1a— b is :
(A) 3 (B) 4 ©) (D) 6
a_ 4 6a + 2b .
38. m‘%g—g,m@ e op SN
(A) 3 (B) 4 ©) (D) 6
38. ﬂfﬁ%=%®\o Zaiizawmﬁf
(A) 3 (B) 4 (C) (D) 6
a_4 6a + 2b
38 Ty = T o
A) 3 (B) 4 © (D) 6
a_4 6a + 2b
38. A =2, — €
(A) 3 (B) 4 ©) (D) 6
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39. If Cosﬁ=%,then the value of sin6 is :

N 5 12 o 2 L 13
39. M cosh=-—, (O sinf I I 2

N 5 y 12 o 2 o 13

*) 1 B) - © 3 D)
39. aﬁcose=1—53§zr,w_e,ineﬂawiﬁz

N 5 12 o 2 L 13
39. f<cosd=—, A=l sinf T AT

N 5 y 12 o 2 L 13

A 1 B) - © 3 D)

5 )

39. IfCcosh=—,dl sin® T AH

N 5 12 o 12 L 13
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40. As per the diagram, which zone represents married nurse who should be sent for training ?

Nurses in
Hospital
2
1
7\ 5\
6 3
Married Trained Nurses
Population
A) 2 (B) 4

40. v DEs (FICH! S AR g Aifaeen [aifze s mise afel

HieeeTTe Fve
QERIEA
2
1
7\ 5\
y 5
: NWWWGT e AfReIRS
(A) 2 (B) 4

40. =ve fog SEPIE @i SiRHfS etf e oo SiE The

ZPSICER I
2
A IR
6 3
s s eApifre b
(A) 2 (B) 4
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40. HEMR T4, 99 QIS B M e TEwRgE! fafrer ?

T RIS
FEHBR
2
L /e 7\ 5\
6 3
2 BIA FHE
FIHR TH®R
(A) 2 (B) 4

©)

3

(D)

GET IT ON
Google Play

7

40. T T @ & SR, A 91 & foenfed =& =1 goiar & 99 wf¥reror & fer O s =nfew 2

SHEATA
Gt
2
b/ 7\ 5\
6 3
- 4 gfwrfara 79
(A) 2 (B) 4 - 1E (D) 7
41. The value of J0.09 + /1.69 is:
(A) 1.78 (B) 1.6 (C) 1.33 (D) 1.5
41.  /0.09 + /1.69 T ¢
(A) 1.78 (B) 1.6 (C) 1.33 (D) 1.5
41.  J0.09 + +/1.69 9 ¥ 3
(A) 1.78 (B) 1.6 (C) 1.33 (D) 1.5
41.  J0.09 + 1.69 T HM:
(A) 1.78 (B) 1.6 (C) 1.33 (D) 1.5
41.  J0.09 + 1.69 HHH :
(A) 1.78 (B) 1.6 (C) 1.33 (D) 1.5
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42. Identify the sport related to (Major) Dhyan Chand.

(A) Football (B) Wrestling (C) Boxing (D) Hockey
42. (CT&R) GG G0 GITS (&S N Hale 33 |

(A) o (B) ER= © IRI= (D) T
42, (TISR) GBI 105 T5ifFs (41 fbfers e |

(A) o (B) ¥ () Fogm (D)
42. (TSR) SAFI<E 9 TAEsi Gl SHA ?

(A) Fead (B) WHAREHAMA (C) e (D) T'&
42, (¥SR) ©AMECE 9 Hafd Wd Sl 9849 |

(A) Heaid (B) (C) HaRaTSIT (D) @il
43. Identify the incorrect term in the series.

{5, 8, 13, 20, 31, 40, 53}

(A) 13 (B) 31 (© 20 (D) 40
43. {5, 8,13, 20, 31, 40, 53} =R ST “WCH! IS 37 |

(A) 13 (B) 31 (C) 20 (D) 40
43. gme @ wiva g WY i e |

{5, 8, 13, 20, 31, 40, 53}

(A) 13 (B) 31 (C) 20 (D) 40
43. THIRAE {5, 8, 13, 20, 31, 40, 53} AR AT~ foEE I=E’ |

(A) 13 (B) 31 (C) 20 (D) 40
43. @l {5, 8, 13, 20, 31, 40, 53} H A U A |

(A) 13 (B) 31 (C) 20 (D) 40
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44. A sector of angle 30° is cut out from a circular disc of radius 6 cm. The area of the cut sector in cm?

units is :

(A) 3w (B) 4w (©) 5w (D) 6m

44. 6 G5 IPIMGT 9T J&I 7 30° (ol AR GBI Fede F Threal 7511 JeSBR Fawe Gk oFFe
g9 ¢

(A) 3w (B) 4w (©) 5w (D) 6m

44. 6 (LI IPAIER 96 JEFR BIFRS (AT 30° @R <36 &1 I W | (FC (a1 JeFai o Fifer @1.f1.2
G(F T ¢

(A) 3w (B) 4w (©) 5w (D) 6m

44. 690 T'EE T HHE SR R TR 30° @ A1 IH GRE WG g SR S| g S @l
it 9.f4.2 rfeare S ¢

(A) 3w (B) 4w (©) 5w (D) 6m

44. 6 Q.. o ITEh UH FAER etk ¥ 30° IV F1 TH Bams w1 o 1w gu s & &aawd
VM2 gPRA AT :
(A) 3w (B) 4w (©) 5w (D) 6m

45. Which of the following countries is the farthest from Andaman and Nicobar Islands ?
(A) Myanmar (B) Indonesia (C) Vietnam (D) Malaysia

45. SIS SR PR Fioi9i6R o[ (@i oite 1Ry RIS 2
(A) Sy (B) el () fowabam (D) STieTafez

45. TIoF @ I SR @ IR B1719)g (A0 AR I 2
(A) ORISR (B) BCwitarl ©) fermeam (D) SR

45. 99 BEU <ME AR 0 '9R feumrfw smfaam ?
(A) HHAR (B) < Hf&=n (C) ™ (D) WA

45. frefafed § 9 FA-91 <9 sfeA iR e g1 99 9 998 W2
(A) AR (B) gSHf¥EN (C) faaam (D) weiferEn
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46. Which State is the Dandiya Raas a popular folk dance of ?
(A) Rajasthan (B) Gujarat (€) Odisha (D) Maharashtra

46. WIS 0T (PN IEHI GF GRS (@RS ?
(A) FeZH (B) @TRIG (C) ==yl (D) R

46. Cifes A (A AT G S (STIPTS) 2
(A) ez (B) TRD (C) efT=i (D) “2EIE

46. <IN T 99 TISI g HEHE ?
(A)  TSTEIH (B) TN (C) Sfewn (D) HENT

46. <ifean T fFT T5T F1 ARMTT @6 T § 2

(A) TSTEIH (B) TSI (@) siifeem (D) WHeENYe

47. A person moves from P to Q in a semi-circular path and then comes back to P by the shortest route,
which is 4 km. The total path covered by the person in the entire journey is :

(A) @r+2)km  (B) (u+4)km  (C) (m+2) km (D) (2w+2) km

47. G S0 P I 7 Q 51 TG JeR A2l Sfo@s (3 9% ©IF 22 4 .51 (e g7rew #1(2@ 279 P =1 9
SR | TS SIfoEs 41 #1209 9 O (202 8

(A) @r+2 &R B eEr+y R (© @E+2RR (D) @er+2) B

47. &FG G G THFEFR A P (AF Q TN =R Toe77 Povowl A<, ol 4 .., Seprw 3@ P-co
(FE | @ @R e 2= Sfog=e I (MG 712 25 ¢

(A) @r+2 &R B eEr+y R (© @E+2RR (D) eEr+2) W

47. T ARG WEEEAR A A P AR Q fom et SR st e @, 4 fLfa, S fam
THiRAT | o T TR SHE e ?

(A) @r+2)f®fm B @Er+4 T (© @+2 &M (D) @r+2) &M

47. T AfH AHFAHR T H P Q d%h a1 € IR TR Tordl Bie 0rf F PR 9199 o 8, 5 4 R, ©1 g
7 H Afad gr a9 fohan T e TEA

(A) (@n+2) fw#H. B) QEr+4)fed. () @@+2)fE#A. (D) @w+2) .
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48.

48.

48.

48.

48.

Sagor Dekhisa, a collection of Assamese poems was written by :
(A) Devakanta Barua (B) Navakanta Barua
(C) Banikanta Kakati (D) Rajanikanta Bordoloi

AT (RIE TN SR FEO ARG (@I i e

(A) (R T]AI (B) G &N
Q) ATIE IO (D) TGP I
Mo (FRIE GFo ST FROR AT, oTere ¢

(A)  RITI (B) «FI® I
Q) JITFIE Fi© (D) GBI I
TR gy, Aatan Teerg fosierdl R feud= ?

(A) <SR Sl (B) T Al
(C) afehT= TR 'fa (D) TSR aRGel
IR fia@r AHeh 3T hfadisti &1 9ug feer gr foman man on ?
(A) <EHIA THA (B) ahId TTT
(C) IIehid ShTehdt (D) TSI SIS

GET IT ON
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49.

49.

49.

49.

49.

The longest diagonal that can be found in a regular cube of side 1 cm is :

(A) 2cm (B) 2 cm (€) 3cm (D)

1 (5.5, AT & 7 TI© A A=) FIow Fofq e ¢
(A) 2 @.f. (B) 2 Gf (C) 3 &AL (D)

1 G e Rf*E @ Fafire T wdqee 34 2@ ¢
(A) 2 @AW (B) 2 @R () 3 @l (D)

o8 1 9.f9. w7 71 s Trafas @ ' e
(A) 29 (B) 2 9. (C) 39 (D)

194, o ot Frafad =@ & aran S e 998w foent ©
(A) 29 (B) 2 9. (C) 39 (D)

3 am

J3 A
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50. Which of the following is different from the rest ?
(A) Samaveda (B) Rigveda (©) Yajurveda (D) Ayurveda

S N ey

SRS (PN SR 7L ?

A) AR (B) A=W (©) Fgm (D) SRE"

50.

—~

50. ICHR (D SEHHR (ATF 72 2

(A) (B) atam (©) Tg=m (D) SR
50. TTErEM S HFEA EARRMABE a1 ?

(A) TR (B) fomg (©) FIwR (D) ER
50. frefafed o 9 % afedl 9 f 82

(A) WFEg (B) R (©) =g (D) &R

51. Two bells A and B are rung such that the bell A rings at every 30 minutes and the bell B rings at
every 25 minutes. If both the bells start ringing simultaneously at 6 am, then the very next
simultaneous ring will be at the time :

(A) 8:00 am (B) 8:30 am (€) 9:00am (D) 9:30 am

51. WO! 91 A OI% B A 9BICH! 2ifS 30 fAIfoa S[c3 & o1 B 9eB1eh! @ffs 25 f&fa5 3= w03 aifer Teo 1 3w
YIB! 9612 6 am © Gl Aife Tffes, (orT 9Bl wG! arretes! 1S Tl 3% St =B 29 ¢

(A) 8:00am (B) 8:30 am (€) 9:00 am (D) 9:30 am

51. 95 9] A =R B GSSICA G 27 (T 2961 A @ife 30 R Aicer @3 901 B @S 25 WG alter | 7 siie
6 BT T 16! G2 AL AT(S WF F(H, OF TS | GFCANE! ASK AN 24T 8

(A) 8:00 am (B) 8:30am (€ 9:00 am (D) 9:30 am

51. A 3R B 5= @l STERIfE AR SR S A A1 Uaes 30 fafera g s B = waes 25 fafea | s
el T=TE T B 6 RSTare s, STeal o 5= 791 ARG HIsedl S SIS ?

(A) 8:00 am (B) 8:30am (€ 9:00 am (D) 9:30 am

51. < AT A 3R B 39 YR o Wl € b St A Tk 30 fAe W et € 3R =&t By 25 fife W
It § 1 Afe ST sfeal Gog 6 991 Tk WY S IE &1 S, 1 STTel b 91 SISt T g9F 6

(A) 8:00 am (B) 8:30am (€ 9:00 am (D) 9:30 am
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52. A + B means A is to the North of B; A%B means A is to the East of B; A — B means A is to the West
of B; then in (Neptune % Saturn + Uranus — Jupiter) Uranus is in which direction with respect to
Neptune ?

(A) South - West (B) North - East (C) North - West (D) South - East

52. M A+BI =L A (5l B Teq e litg; A%BI =1L A, B3I 799 Witz A—BI 9 A, B I 2If¥65s =iy,
(T (25 % = + THEAE — IZTI6) © Folpe ATATE TTEAZ GFE! S S=ge TR 2

(A)  WEFe-o{f*px (B) Tess1 (C) Tea-sifepn (D) W=7

52. M A+B W A 25 B @ TGEF; A%B W A T B @3 57 esF; A—B W A 261 B @3 sIf*60; Siera
(G % = + TEEAP —JTIf®) (O THET @ 2R ACATE (T P SR(ZO 2

(A) TfEFe-sAfREw (B) T&-oK (C) Te-oifew (D) wfEwe-siF

52. Sfc A+BT Aifn - Ao B 9RIf; A%B A1 - A a1 B AN A—Ba1 - A B AFE, e
(TG % WUT + TIEH — TSI 3T TSR AGGA Sl ?

(A) Gie-dEefd (B) |- WS (C) HI-gHEfy (D) Grell - |As

52. ACA+BHIAATTHF A BFSHRAT, AUBH AT TH A BF I HE A-BH 1 T fh A, BF ufeam
HE @ (0= % 9 + 99 — Je9afd) § J9=01 & dey # J9 fong faom § 272

(A) cfqo-ufeem (B) SW-d (C) IW-ufeem (D) =faor-gd

53. Who played the title role in the 1969 version of Dr. Bezbaruah ?
(A) Nipon Goswami (B) Biju Phukan
(C) Dwipen Baruah (D) Brojen Baruah

53. ©° (IERSA1 @RT6RE 1969 FFITS (P w1 Gire ifomy e 2
(A) R o (B) Rz
(C) Rl I=94l (D) &= F

53. ©° (QEREIN 1969 AR (F AL G #AleT Sl 2
(A) 9= ot (B) fag e
(C) JICoM Iz (D) s I

53. 1969 AEUMM T. SSe%dl G WagAe e fawafrgt 9R A ?
(A) o TeerH! (B) ToIg Ferd
(C) fgu s (D) S &%l
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53. <. ISE%3T % 1969 G&RU1 H e yftrer feraq fue 2
(A) T Tireert (B) fog Ferd
(©) fgim =wan (D) I e

54. Which word would substitute the marked portion - “The Zebra stripes on roads are for crossing by

people who are walking ” ?

(A) Pedestrian (B) Pediatrician
(C) Pollination (D) Postulation

55. Which of the following is a State of the United States of America ?
(A) Hawai (B) Fiji
(C) Papua New Guinea (D) Solomon Island

55. Efee (@M S Jewg 2 qrey 2

(A) AR (B) &fE

(C) fto et (D) o Gioioig
55. SI6A (N Wi ISR G ey ?

(A) e (B) ffer

(C) s W% e (D) AT Qlolo)g
55. TR deidT AR STaE gedfd Ay sl ?

(A) TEE (B) TwS

(C) rgen =g ffq (D) @'a'm feqer

55. frefafead § 4 FF-91 S99 T5F ST &1 TF TF 2
(A) TR (B) st
(C) TrgeT =g firt (D) HiawA g

56. Fill in the blank.
January was the month last year.

(A) Cold (B) Colder (C) Coldest (D) Cool
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57. Which two countries does the Gobi Desert touch ?
(A) Sudan and Egypt (B) Saudi Arabia and Iraq
(C) Turkmenistan and Uzbekistan (D) China and Mongolia

57. (IR 94 OIS (N eI =il e 2

(A) poR i< ey (B) (R S oI Za1

Q) TICTBA e THRRFBH (D) bR = wgesiifer
57. (ol SREef (@R 6 (I o SRR 2

(A) A =R FES (B) i S €3 311

Q) TIEEN @R TSRARFBI (D) bW @} Sewifera
57. T1'<l STCT SR 96 B HAAE AlrST

(A) YeH R fee (B) ¥RfS sTRE N U

(C) TehufTE AR ISTelfhEd (D) =i TR Harfer
57. el HEEee TR < <Ol bl a1 © 2

(A) YoM IR = (B) Tdl 3T 3R &

(C) THufEm iR Iafrea™ (D) = iR Hferan

58. The population of a town increases at the rate of 10% every year. If the present population of the
town is 10,000, then after 3 years the population of the town would be :

(A) 13,310 (B) 15,310 (©Q 13,510 (D) 13,000

58. (FIC G2 9IFT SR @lfS T=d 10% T T9© i oA | F9[Q29 T8 PRl 10,000 T 3 TR ST
TR I[J PR T 2
(A) 13,310 (B) 15,310 (C) 13,510 (D) 13,000

58. M 2@ SRl fS I 10% AR Jfa 2| *=@ba a9 Seeikat 7 10,000 27, A 3 IR 27
=207 SR B ¢
(A) 13,310 (B) 15,310 (C) 13,510 (D) 13,000

58. MY MR g AHERT SRR 10% ) IREE | fe Sferama e ame@ist 10,000 3Tl a€r 3
e Sl S ?
(A) 13,310 (B) 15,310 (C) 13,510 (D) 13,000

58. T IEX i SHEEN & T 10% & R ¥ Fadl ¢ 1 Afg I il adq™ =& 10,000 €, & 3 99 971G
STHE B
(A) 13,310 (B) 15,310 (C) 13,510 (D) 13,000
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59. Which sport did P.T. Usha play ?
(A) Athletics (B) Badminton (C) Table Tennis (D) Cricket

59. 1.6, THi3 @[y (dere wisiaee fafeet ¢
(A)  92AETHRE (B) @SRIGH (C) (53 (B (D) =0

59. T, Al @M (4T (RBCSS 2
(A)  SHIRCETH (B) WIGhITe (C) GRe (G (D) feco

59. fu.fq. 3w o1 TerEeE ?
(A) Teife (B) wefimd (C) dfs aftg IREET

59. 3. IW A HE-A A Gl ?
(A) Toaifesm (B) WefHed Q) <&« f (D) Tohee

60. Which word would you replace for the underlined word to reverse the meaning of the
sentence ?

“Food in this hotel is worse than that provided at our hostel.”

(A) good (B) Dbetter (C) Dest (D) excellent

61. The addition of two binary numbers 11 and 10, when represented in binary system is :

(A) 101 (B) 110 (C) 010 (D) 111

61. @ AelleTd oI WA 11 OR: 10 I (Q9TFH G0 2elleTre oM IR0 Ale AU ¢
(A) 101 (B) 110 (C) 010 (D) 111

61. ¥ @i i 11 @3 10 93 @91 fafsis simfore o F0e 203 8
(A) 101 (B) 110 (C) 010 (D) 111

61. WY SFFTHMAN SR 11 30 10 1 SSTermE@! AAfSHH=R sHfsH™EE wREe |
(A) 101 (B) 110 ©) 010 (D) 111

61. < fgememd Sened 11 3R 10 1 I, S fgememd) yomet § <9iian Siar €, o i1 © ¢
(A) 101 (B) 110 (C) 010 (D) 111
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62. Which of the following is best depicted by the diagram ?

(00

(A) Cat, Fat, Rat (B) Food, Clothes, Friends
(C) Assam, India, Asia (D) Geometry, Botany, Economics

62. e bz R @GR AEeTe bidge a1 ¢

(00

(A) GRS, e, 4 (B) 2y, %, I
(C) P, e, Gfel (D) eifsfs, Sfewfawm, wiefirg

62. ona Bals Twd @B SIS I T 2

(00

(A) R, i, 29 (B) <, 3w, IF
(C) P, SIS, @l (D) wuifsfs, Sfeniml, STifs

62. o QAR ARGl Frefeq feferm ?

(00

(A) &N, HREIHI, TSI (B) TSI, THME, ANIRR
(C) 3THM, 9, TfEan (D) qAY, o oM, Tt

62. foi T sy fr=fafed § 9 w0 cuiar g ?

(A) faeeh, g, @ (B) @I, U, Q]
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63. On which island hillock is the Umananda Temple situated ?
(A) Bhasmachal (B) Sandhyachal (C) Nilachal (D) Chitrachal

63. (I Tana 1ol GeTre Gallw e S[ES 2
(A) IS (B) AHIHE (C) <rEe (D) foams

63. (i B e T wive sRfge
(A) S (B) TS (C) <IeTHa (D) foams

63. SHM=< A<y s« feu grei-foremam < ?
(A)  vEHAEA (B) HHINEA (C) Trctr=a ) IREEES!

63. UM A forg vt ghu W foa 82
(A) &= (B) HeATHdA (C) e ) IREEES!

64. Identify the proper noun in the following list.
(A) High mountain (B) Black car (C) Deep sea (D) Pacific Ocean

65. Which of the following is a part of Mahabharata ?
(A) Upanishads (B) Puranas (C) Vedas (D) Gita

S N ey

RS (R0 TOROT G5 H] 2

65.

(A) Toifram (B) =i Q) @& (D) Tt

65. <IbF (PG TSRO SeH 2

(A) Toifram (B) =3 Q) @m (D) et

65. TEMEM s&aT HeYRAf @il ?

65. frefafad § @ SiF-91 7ev9Rd & feem ®2
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66. The primary raw material used by the Assam Bio Refinery Private Limited is :
(A) Bamboo (B) Water Hyacinth

(C) Sugarcane waste (D) Banana plants

66. SIS (S (LIS 2Al2ces HRGee game AT (oI 2 ¢

(A) iz (B) A (NG (C) ITWERGS (D) Feroz
66. ST (G CNEIANE AZCes FIhiice «a [l Iz 2iLfE FHE 22 2

(A) (B) oMl (C) SCeF TS (D) <1l aiig
66. TEM 9’ REAEAR 9. fafyesa SRR s e qar -

(A)  &iEn (B) Gfeam (C) TR GA (D)  enfer for
66. TEH 9 e wgae fafies grr suam fhan < aren et seen e © ¢

(A) =™ (B) Stersht (C) T T FHE (D) el & WY

67. The least natural number which when divided by 2 gives remainder 1, when divided by 3 gives
remainder 2 and when divided by 4 gives remainder 3, is :

(A) 23 (B) 17 (©) 31 (D) 11

67. 2 (3T IR 1 ST AR 2171, 3 (I 270 SR ST 2 A 2171 B 4 (F 276 FRCE S0 3 AR 2f [0
TRANAIE ool FreiRE ALAING! (2R ¢

(A) 23 (B) 17 (©) 31 (D) 11

67. IHET Tl AL A 2 741 Slol FCe] SRFE 1 ACF, 3 [ ©lo] el SRS 2 AF G2 4 F ©lel
T SRS 3 AE @10 2 ¢
(A) 23 (B) 17 (C) 31 (D) 11

67. Ssted Tafem srafsn S 2 S e 1 THErel 9, 3 S sl 2 TEal 9rl 3T 4 i Tsell 3
TGRS IR, o AT STe
(A) 23 (B) 17 () 31 (D) 11

67. 9% =JAaH Whfae e i 2 9 fawfea 0 W Iuwd 1, 3 9 fauifad w5 w 3w 2 3R 4 9 fawifsa
F W TR 3 I BT ¢, TS © -

(A) 23 (B) 17 (C) 31 (D) 11

68. Which of the following is an Assamese jewellery item worn in the ears ?

(A) Golpata (B) Horinsokua (C) Jonbiri (D) Thuriya
68. NS (PINCE! (207 TS Il G5 SR il ¢
(A) o=l (B) ZmmZ (O R (D)
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68. IO (PG GFH SN SEHIF T FI 7 2T 2

(A) orETsrel (B) ZHemE ©) o (D) g
68. TTETAM T STHIHA TG GIHMEE T 2

(A) TTeTH'd (B) BrCTEgHN (©) R (D) gfen
68. frfafad § 9 FH-T & § Te1 ST STl STafH= Sywo § 2

(A) e (B) BREFST (C) e (D) gfen

69. A political and legal process by which a legislative body or other legally constituted tribunal initiates
charges against a public official for misconduct is termed as :

(A) Impeachment (B) Re-election
(C) Enforcement (D) Enactment

69. (PGl ReifEieTt 915g) WLl BRI 515 e (Il el (e o) KA e Wp=el e
AE! TR EATST S SN2 A G @t =
(A) eI (B) Jefioe
(C) e (D) &leRm

69. O AT € IZH =G A 2 G SN2 7<) Al SR SNBSSl 25 Tiaifaae spmibaceR
o) GG TN FAFOI e SBfaIS IT 6 T I A0 ¢

(A) Sife*iem (B) swefTow
(C) IR (D) eI
69. TSTET-oER TR SRAT foranf-or st A SREnR e e 6 sTEE ' g U6 S8 ST
TR S SR@’ o1 S 3G AT A=l 11 g1 ?
(A) TS 3] (B) w=@' fHa

(C) SR Q™™ (D) AR el

69. TH TSHfaeh IR HIA Ufshan fSer gr1 Tk faumh fem =1 o= st €9 § wifeq =t fre
greisien i & fge® Heer & fau 3TY I F3dl 8, 98 el §

(A)  wRIEm (B) g™
(C) gerH (D) stfufraad
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70. The three angles of a triangle are in the ratio of 1: 3 : 5. The largest angle of the triangle is :

(A) 70° (B) 90° Q) 120° (D) 100°
70. <! fagem ffGH (e 7 1 : 3 : 5 SRjoiiTe =Nz fTgeibia J7e (e T4 2

(A) 70° (B) 90° Q) 120° (D) 100°
70. O30 (GoreE foqb (IR SFsire 1:3: 5| fageivg Iged &b 27 ¢

(A) 70° (B) 90° Q) 120° (D) 100°
70. TH A UM @ AERM TG 13¢5 | AT @M

(A) 70° (B) 90° Q) 120° (D) 100°
70. T TS & <l 107 1:3: 5 ST | B1d & | A 1 Hord o 101§ -

(A) 70° (B) 90° (C) 120° (D) 100°

71. Toyota has its headquarters in :

(A) China (B) South Korea (C) Singapore (D) Japan

71. TS TATR 4 IR SRZS ¢
(A) bW (B) Wi (If (C) PanisE (D) @i

71.  CBICBR AW 7S AR 8
(A) b (B) Wi (il (C) PEsw (D) @i

71. I’ MR Hie 9 &%l ?
(A) = (B) el kAl (C) fEmgR (D) MM

71. SR G SRl TR ©
(A) == (B)  Sferor whifean (C) e (D) S

72. 1f P, represents the product of the natural numbers from 1 to n, then P;+P,+P;+P,is:
(A) 23 (B) 33 (C) 37 (D) 31

72. AWM 19 791 n (& FOIRE FRAIERE TS A P, (& 5T F(F, (9CF P, +P,+ P, +P, T A 2
(A) 23 (B) 33 (C) 37 (D) 31

72. M1 (A n 2RT FrelRS Aefer o P, adl Bz #71 @ ©@ P, +P,+P;+P, %A ¢
(A) 23 (B) 33 (C) 37 (D) 31

72.  Jfc P, S fHfem st 1 s n femf aestermé! gsireE, s Py + P, + Py + P, 7 e
(A) 23 (B) 33 (C) 37 (D) 31

72. AP, , 19 n T &I IHdew HeAsti H1 TOFES HI T 8, @ P, + P, + Py + P, F TOF T :
(A) 23 (B) 33 (C) 37 (D) 31
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73.  Which country controls the Suez Canal ?

(A) Turkey (B) Israel (C) Egypt (D) France
73. (LT (0 GRS A EEel I 2

(A) T (B) ZGIzet (©) zfag (D) =
73. (W O S A T I 2

(A) o (B) ZERICH (C) fmm (D) T
73. U T<E 99 SIS AHEAR ?

(A) TH (B) ESIEA (€ fam (D) rd
73. TS el Hl HA-H1 < FERE e €2

(A) TH (B)  ESTURS (€ fr= (D) w4
74. Which of the following does saliva in our mouth help to breakdown ?

(A) Starch (B) Protein (C) Vitamins (D) Fat
74. SIS JL© 4 LR WHRERS (FNGR [eLowe AR TS 2

(A) oA (B) AR (C) e (D) &
74. SIGA (FIALI TEGC SR YOI A ALY IR 2

(A) AR (B) cafom (C) e (D) &
74. GA S GTHETa ARE! fawEEmEE S 2 2

(A) s (B) ufed (C) o (D) =™
74. TR Y ¥ oR ffafed § 9 feges fase § ueg #dt 82

(A) wH (B) WM (C) faeartsA (D) =&
75. Which Continents does the Mediterranean Sea lie between ?

(A) Asia and Europe (B) Europe and Africa

(C) North America and Africa (D) South America and Africa
75. (I G TR0 WErS Gl SRES 2

(A) @Rl =i TTEIA (B) 2T W SR

(C) TS NI SIS S (D)  wf=rel SCTT<Pl STl SNifp<sl
75. ORI (I 95 TR T SR(ZS 2

(A) @l @3 TR (B) TTEIA @R ST

(C) T& IR =R S (D) wi=Fe SRR @R SRl
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75.  YFRSRSTR SAefien oe T gIeTaf e 2

(A) THF AR 330 (B) T3 W Akt

(C) HI-3THRER 3T AR (D) Erel-3THRERT 3R SRR
75. A= AR foR AeEdl o o= feem €2

(A) T iR (B) I 3R ST

(C) T Tfeht 3R TR (D) <faqor SRRt SR STiehT

76. If SATURN is coded as TZUTSM, then how will URANUS be coded by same plan ?
(A) TSZOTT (B) VQBMVR (©) VQBOUS (D) VSBOVT

76. M SATURN & TZUTSM f25It3 T8 351 2, (9T 7# 3a(d URANUS F (AW BT T 2] ?
(A) TSZOTT (B) VQBMVR (C) VQBOUS (D) VSBOVT

76. M SATURN (F TZUTSM 2@ EFwoe F41 2, O(e G2 WA URANUS (I FOIF MFOE

FANZA 2

(A) TSZOTT (B) VQBMVR (C) VQBOUS (D) VSBOVT
76. € SATURN 1 #e@l TZUTSM @i, 3fset URANUS 1 #e@t arel Weir s ?

(A) TSZOTT (B) VQBMVR (C) VQBOUS (D) VSBOVT

76. afC SATURN I TZUTSM & &4 H hifed fohan T B, T ST A1 & THER URANUS &1 & sifed
[ERISILUIY
(A) TSZOTT (B) VQBMVR (C) VQBOUS (D) VSBOVT

77. Which of the following is a collective noun for ships ?
(A) pack (B) herd (€) swarm (D) fleet

78. A tank can be filled by 6 pipes in 80 minutes. How long will it take to fill the tank by 8 pipes ?
(A) 45 min (B) 60 min (C) 48 min (D) 70 min

78. <5l (B 6 T #i1Z7F SRR 80 e o T iif7 | (GfFCHI 8 e 11277 IR ool Ffcet fFww
RS TG TS 2

(A) 45 G (B) 60 WG (C) 48 WG (D) 70 WG

78. &3 g 6 6 7&1 @il A6 Face 80 FGG w7 Feat | 8 6 71 @il i@’ Sl Face F© A5G A6IE 2
(A) 45 WG (B) 60 WG (C) 48 WG (D) 70 WG
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78. i@ AHIE! T 6 Afarsti gt 80 fafte @i 1 8 <fifersii o9 Tiema @i ?
(A) 45 faf1e (B) 60 faf1e (C) 48 fafte (D) 70 fafte

78. T Toh! hl 6 IZUT gRT 80 S H o)1 ST Tkl ¥ 1 8 UIEHI GRI ehl ol WA | foha=n 99 i ?
(A) 45 fae (B) 60 e (C) 48 fue (D) 70 e

79. Grandmother was cooking at a picnic, attended by her son and daughter-in-law, with their four
sons and their wives and one son and two daughters to each of the sons. How many ladies were
there at the picnic ?

(A) 8 (B) 12 (C) 14 (D) 10

79. QAP WO ST T Wee | IO HifileT feeT ATORFIR 2@ =N @Y, e fe +1FiE
TS (SEEIRT BIfReR 7@ O 5IfRsa] 2fSTmE Iomiis 5q SR Tomite SIS ICSISIoS Jo0S
SfzeTT g2yl e et 2
(A) 8 (B) 12 (C) 14 (D) 10

79. I ICOICS SIFFI A FARCE | Sl 7@ 3R 5[99Y O BIF (A S O FIE T Toifge fare @k
TSP (TR G0 FC (0 9% 9f0 6 GIR 257 | 08I0 Foe qf2el R 2
(A) 8 (B) 12 C) 14 (D) 10

79. 3T R S AEER e SteArEre faenifa framen R foemsist | faart @ s frdemsr s
forgrt fafemr ST SrnHsl TrareThR freTe 9 SR freTsi e el | o SeraR S SR 91
oY fe~TahR €0 ?

(A) 8 (B) 12 (C) 14 (D) 10

79. <& Uk fUehfeh W @1 1 T off, TS 3Rt 9321 37K =g, 3% =R 9 IR St uferar iR Sk Tk
o2 o1 T 2 AR 9 Sfeal witrer off | fewfen & ferat wfgemd off ?
(A) 8 (B) 12 C) 14 (D) 10

80. “The invigilator could not detect that the two boys were exchanging notes under his nose.” What
is the meaning of the marked portion ?

(A) With due permission (B) Right in front
(C) With active help (D) In small pieces of paper

81. For which sport was T. Ao the captain of Indian team ?
(A) Badminton (B) Hockey (C) Football (D) Volleyball

81. b ole @WRY (IeTe SRS T wod S SNifes 2
(A) @G (B) = (C) T5= (D) SHRE
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81. 5. W€ (N (I CITS I W(eTd HEF fege 2

(A) GG (B) == (C) T5= (D) Sfere
81. fe. 3o 919 dAEAEAEE YA B ST 1 ?
(A) wsfi=ed (B) B (C) Heaa (D) w'faed

81. fe o= form @a & foai 9IRe < & e 92
(A) Sefied (B) @Rl (C) Tpedrd (D) afcftara

82. 72 toffees were distributed to some boys in a group. Each boy in the group got twice as many of
the toffees as the number of boys. The number of boys in the group is :

(A) 6 (B) 7 © 8 (D) 9

82. «b! WeT® AP (FIG &1'A{ NS 72 FRAF HfF o099 391 Do | Worq 2f e o7’ ©lsre #[1 5Fg 1zt
VTS 2] I T AT GO AN | WEACOIS 4] &1 YJ A (207 2
(A) 6 ® 7 € 38 (D) 9

82. 72T Of% e (xreeva Sieyy f[iedel a1 21 | weeis 2fSb (20, Wee AP (REETeid TIRAIE el BfF #iiw | wes
(AW TR T
(A) 6 (B) 7 € 8 D) 9

82. TINH T 'EBRM BT 72 Afth T STE) | TSRS 7¢ 3Tl 8= 9™ 19 R sHfsmf JwE afts
A | S grTaTe TTerd 719 R €61 ?
(A) 6 B) 7 © 38 D) 9

82. UH UE H Fo TSH! ! 72 kAl faafikd ot T | THE | Tish igeh ol AiSahl bt W& ¥ ST it
foeft | Tg § Aol # gen ¢
(A) 6 B) 7 ©) 38 D) 9

83. Identify the correctly spelt word.
(A) Conservation (B) Consarvation

(C) Conservetion (D) Conservasion

84. The Civil wars termed as the Wars of the Roses was fought for which throne ?
(A) British throne (B) French throne
(C) Russian throne (D) Spanish throne

84. (N PIKEPFR AR (A2 JF (Wars of the Roses) 15 2% Al <AL (228 2
(A) 3= Brzem (B) zaibl PicarE
(©) diferE Fizp (D) iR P
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84.

84.

84.
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(SNAICo I& (Wars of the Roses) TG ARD® Jymafe (@iN PrgPieg &) A<Hibe @i 2

(A) & Ficaew (B) =ART PIREmw

(C) TR Pieae (D)  cife Braee

TSHR STE@T (Wars of the Roses) 1 TE&R SRl o¢ TSIHEAN A& STATHM ?
(A) o TR (B) T Tifier

(C) ity TsifHereA (D) EfT SifHeEA

A % G (Wars of the Roses) &g ST aTc1 Teg§ e FHeEA o fag @< T 9?7
(A) Tofewn fogmm (B) T fogmed

(C) T fefer (D) whfrer fegrem

85.

85.

85.

85.

Which of the following statements is correct ?
(A) Sikkim shares border with Assam.

(B) Sikkim lies towards the west of Assam.

©)

(D)

TS (o T a2

(A) ol 3T SPhR TS o 36 |

B) ol oprE sif*o e Sxize |

ST 7M1 TRl S TaIeTaIa ST 2 0 |
AEC! STl i S ST e <5 |

B) SPIGR SARGumE e SRfge |
N @32 TSR A AR TS AR |
T @R AR SPTeeTd ST Az |

TR a9 faefer e ?

(A) Tafora sTamsT 5w T |

(B) fafasrmn stramfa Hiremt et |

(C) e fafaens R Henerrst fHHTRR Teeral |
(

)
D) Wiy IR fafaerar st fammRRE e |
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85. frfafad sl & & & W& €2

(A) faferm =t Him e/em § ot 7

(B) fafern sy % ufvem ¥ feor 71

(C) o9 &t W fafern IR Femer™ 9§ @ 7

(D) =Ry iR fafsrn & HH 38| F T §)
86. Which country did the martial art Taekwondo originate in ?

(A) Thailand (B) China (C) Korea (D) Vietnam
86. DIRIRICG! AN 3G FEACHN AT (i (7T C2fee 2

(A)  2lEceTe (B) ©M Q) ifl (D) BN
86. IEPE SRACHRICTE Gl (i (Cel 2

(A) 2lZEe (B) ©M ) ifa (D) foea™
86. TEEMEIR STRY AL o7 o6l FIRUE SIFTRRIGIHM 2

(A) TS (B) =M (C) it (D) Twaa™
86. TFFEIS! ATHh FHERAT hi Scdfd fhd <0 H g8 ?

(A) oS (B) A (C) =ik ) BRERGRIE
87. Which of the following is incorrectly matched ?

(A) Class Ilever : Pliers (B) Class II lever : Nail cutter

(C) Class III lever : Nutcracker (D) Class II lever : Bottle opener
87. Ffeie (@G seweltd (@l el txez ?

(A) e (T Brem ¢ Amg (B) fasi (xix forei ¢ 74 S5 Tor

(C) TOR (M feTei ¢ M Tel T (D) TSR (T oTelX ¢ I6e[ AT (Al Tor
87. oA (S Srwmelca stz ¢

(A)  @w (@7 forem ¢ foufs (girpd) (B) TSy (i forom ¢ 14 FHR T

(C) TR (IR feToR ¢ wife (A6 @FE) (D) f=or (@TR foreE ¢ @ree (e I8
87. TREMN &1 9N SN Srard ?

(A) gmE 1 fifa : e (B) =@ I fifa : ST e Sy

(C) gl I fifE : fagem e s"R Hrame (D) er@l 11 f3fa : o wa
87. Trafafeaa # & SF-91 Tera gafed &2

(A) FH I R : e (B) &I II @leR : 7& hed

(C) = III fer : TEsharl (D) AT II e : slidel STaR
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88. Ason 15tof January, 2024, who is the President of Ukraine ?
(A) Joe Biden (B) Vladimir Putin (C) Valerii Zaluzhn (D) Volodymyr Zelenskyy
88. 17 SFRISI, 2024 ANATF 28(Fea< Aol @I 2
(A) & qfECe B) mfEfmafa (O @R @Epem (D) ATl EEw®
88. 13 QAL 2024 AATH (R AGATS (F ool 2
(A) (el FBTe (B) ®iR ofeqr  (C) R GeRA (D) SreiviE (e
88. 2024 TEAEM 1 SR Wfafadre ForafT gRRATRET GE ?
(A) S d&H (B) wfefR gfd  (C) iR Siegsw (D) w'a'feffR S Teht
88. 1S, 2024 I Yok o UL A & ?
(A) S foreq (B) =afeHR gfdd  (C) et SiegsH (D) SIAIfSfHR Sieient
89. The Padmanabhaswami Temple is in which city ?
(A) Bengaluru (B) Chennai (©) Madurai (D) Thiruvananthapuram
89. (FINT TS 2MNSH| NS SHZS 2
(A) @R (B) @I (C) s (D) fR<wEs
89. AMAICFIN! I (P *2CH SRS 2
(A) TR (B) (5HIZ (C) AR (D) fomm@ ™
89. URMIYRATH! Hf<y od FRIRE S ?
(A) dmEE (B) =% (©) wgE (D) faearTe
89. TEMITYETH Hic fRE IR H T2
(A) e (B) = © W (D) foeariage
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90. Who has won the highest number of gold medals in the Olympic Games ?

(A) Mark Spitz (B) Michael Phelps (C) Jesse Owens (D) Paavo Nurmi
90.  (FIC e[ (oT® AL AT (T 7S +I® FICR 2

(A) WF g (B) WE g (C) @R @R (D) el g
90. SIfeTi Fgl Aferaferer (& (w AT Fof7w 7S FAfRE 2

(A) W Foie (B) iEHE e (C) (ST ST (D) #ice! i
90. 3ffcAftersh SCEIAPMAET Hikel SEfell St &1 Heet § 2

(A) e femest (B) WEhd Wewd  (C) S A (D) w9’ 3
90. 3icifue Wl o waifue w@of g fRed Sfia €2

(A) Tk foest (B) WIEhHd oW (C) ST e (D) Tl e
91. To which emperor was Chanakya the royal advisor ?

(A) Samudragupta (B) Ashoka

(C) Chandragupta Maurya (D) Skandagupta
91. I (I AF TFOI TSR GoS wNifee ?

(A) TEed (B) SICHIIS (C) vmad G (D) FwwY
91. DBIfH (TN G AerF A T2 ot 2

(A) TRY (B) SICHIF (C) tmudy G (D) JWaY
91. IS el FHEMH TSTRAIR S BT ?

() T (B) ST (€ w=[AEE (D) W
91. IR fohE THTE o VR HeAEHR & 2

(A) WIS (B) T (© F=rawet (D) W
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92.  Which of the following countries does the Mediterrean Sea not touch ?

(A) Spain (B) Portugal (C) Lebanon (D) France

92. fRfe @4 (miT guaang =i T e 2

(A) i (B) “gaNa (C) (AR (D) ™

92. SIHA P (IfbcF TR o FCA A 2

(A) =iz (B)  (olgale (C) R (D) ™

92.  YHISR ot SrefieT 9 BIeXd ATATST ?
(A) wF (B) YTl (C) & (D) W

92. ymeETR frafafed # 9 fora To 1 & ga © 2
(A) @ (B) A (©) e (D) Wi

93. Consider the five numbers given here :
i 736 (i) 269 (iif) 958 (iv) 219 (v) 793

Arrange the digits of each number in descending order. What would be the difference between
the highest number and the lowest one ?

(A) 222 (B) 716 (C) 618 (D) 12
93. e Aol WU (27 ¢
G 736 i) 269 (iii) 958 (iv) 219 (v) 793
ATSCH! AT SRF (F2B] TGO SR 212 TS B F T FRANFEHR NS 2NLFT i F 23 2
(A) 222 (B) 716 (C) 618 (D) 12
93. QI ewe FATofb AT e ¢
G 736 i) 269 (i) 958 (iv) 219 (v) 793
AT AR ST TG AGH | I R @R I TR & 21y Fl 23 2

(A) 222 (B) 716 (C) 618 (D) 12
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93. BN AT SFSTHRRGE! SR B :

() 736 (i) 269 (i) 958 (iv) 219 (v) 793

Ahme sl foaHeRE! g wiae aeE | T o Efen smfsmf ore wrefeEn
9?2

(A) 222 (B) 716 (C) 618 (D) 12

93, fei MU utw Hemel W faar o
G) 736 (i) 269 (i) 958 (iv) 219 (v) 793
T AT & 3hi bl 2d hA B AAEd i | oY o< 3R Tod B T 941 A B ?

(A) 222 (B) 716 (C) 618 (D) 12

94. Near which place, a statue of Jongal Balahu has been erected ?

(A) Raha (B) Dibrugarh (C) Dhuburi (D) Karimganj

94. (GleR ToTeS A€ (P BT IS Biok 1 (2(Z ?
A) (B) fearw © @ (D) wfwalg

94. (GNeF T5TLR S (I FI 6 BIol 1 20 ?

(A) =” (B) fewrw © g (D) =l

94. A 9 g THEE! F&l HHAE G 2
A) & (B) fegrs (C) Yok (D) i

94. ST SIg 1 il fohd T & Fehe Tofua =i 18 7 2
(A) & (B) Teqmg © 938 (D) TS
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95. Who of the following is NOT a Lawn Tennis player ?
(A) Leander Paes (B) Vijay Amritraj
(C) Mahesh Bhupathi (D) Pullela Gopichand

95. RIS @RFT o7 Gz (45 728 2

(A) Fer cow (B) e Sreier

(©) = g (D) >{C=T@l CosTioew
95. WI(HA (PG 1 (B (ATAG o 2

(A) Frer o9 (B) Rew srpesier

(C) w2l gHif® (D) =t callfoim
95. R H™ e TSR 9R o df 19 Terin 7T ?

(A) =R 99 (B) fasm sy

(©) wew ya'fa (D) et e
95. freAfafad & @ @A @ 2 faers & &2

(A) ferde T (B) forsmr smgaust

(C) e et (D) e e

96. Which of the following is a stringed musical instrument of Assam ?

(A) Dogor (B) Xutuli (€) Kaaliya (D) Tokari

e N ey

96. RGNS (PG (202 THE IF OIS AWIF ?
(A) W= (B) gl C) wifer (D) (BRI

96. SIBA (TG SPICR G SIS AW ?
(A) R (B) =g Q) iferanl (D) (BRI

96. TEMEM & M T qRIT ST ?
(A) TR (B) ®dfa (C) =hrfern (D) TR

96. frAfafEd § ¥ & 1 3TH H1 Teh ARIF TIId ST § 2
(A) TR (B) gqeit (C) hifern (D) <R
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97. A six-faced die is made in such a way that the sum of the dots on the opposite faces are always
equal. Which of the following pairs is not opposite facing pair of the die ?

(A) 1,4 (B) 2,5 © 1,6 (D) 3,4

97. @& i sl wfbw Koz aemiea it Tits @ifs [Reits 21757 R 0 iseet smiz o/iie | fasfafis
@I Rl R seie [eiSte foifde iR 2

(A) 1,4 (B) 2,5 © 1,6 (D) 3,4

97. 30 L] A ISR (o1 1 27 O RFT® JAYTER [V ([T AT A 22 | A5 (A
(ECIB G2 AR i KA (el 71 2

(A) 1,4 (B) 2,5 ) 1,6 (D) 3,4

97. T HRG I <REE! See SHER] Siee fafq Seen draiwrfa foSrerfa S Searsl 99E 1 TR
I ST o <R el S gl AT ?

(A) 1,4 (B) 2,5 € 1,6 (D) 3,4

97. TUH BT JEI YT 39 YehR ST STl & o foradiat wherehi W feigaii o1 4 gHen sRier a1 ¢ 1 Fefafed &
Y HHA-H1 el 36 T w1 feradia Siren 78t &2

(A) 1,4 (B) 2,5 ) 1,6 (D) 3,4

98. Identify the correct definition of verb.
(A) Naming words (B) Things description words
(C) Action words (D) Joining words

99. Which of the following is an example of Indirect Tax of India ?
(A) Gift Tax (B) Income Tax
(C) Goods and Services Tax (D) Capital Gains Tax

S N ey

99. RIS (NG SeT /(= 91 & Thzel 2
(A) ToRES (B) IR
Q) ANT AR ERI T (D) 4 FISq I

99. 53 (TN SIACeT 2T (I SwIe ?
(A) TR (B) T
(C) 8 R (D) &1 31 9
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99. TREM FeET YRA WHTfern W fafeafe ?
(A) <H @S (B) 3™ @ISl
(C) TAT TR HEATHA @IS (D)  YfIdt AR TSI

99, frefafad § ¥ SIF-H1 YR & 3THcH&] T 1 ISR ¢ ?
(A) SUER H (B) ST

(C) =% T Han (D) Ysfma &4 &

100. Mark the correct word as synonym of “affluent”.

(A) Meeting (B) Discussion (C) Wealthy (D) Poverty

101. Who wrote Pride and Prejudice ?
(A) Jane Austen (B) Barbara Cartland (C) Agatha Christie (D) Virginia Woolfe

101. 23T ¢ fAgor 4 (@iE B 2
(A) e ST (B) IRAEI Fforsre  (C) =N fE (D) wifefa T

101. (F 23T 9@ f2gw2T s 2
(A) T SFH (B) IR Foenle  (C) s FHG (D) wifel Tere

101. 9735 T0€ Jyfeq | OR formm ?
(A) ST FRA (B) WS FEve (C) 3rmen fhfie (D) RIS 3

101. F7E€ Te Fyfeq foher foran ?
(A) S A (B) WRANI ®eie  (C) 3rmen fshet (D) St e

102. If sinb=cos6 then the value of 1+ tan0 is :

(A) 1 (B) 2 © 0 (D) V2

102. W sind=cosh, (OCZ 1+ tand I I 2

(4) 1 (B) 2 © o (D) V2
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102. I sinb=cosd T O 1 + tand € 3 ¢

(A) 1 (B) 2 © 0 D) 2
102. Sf<S sinf = cosh A 1+ tand 1AM :

(A) 1 B) 2 © 0 (D) ~2
102. 9fS sinf=cosh, T 1+ tand T A ¢ :

(A) 1 B 2 © 0 (D) ~2
103. The product of the roots of the quadratic equation 2x>—5x+6=0 is :

(A) 2 (B) 3 © 5 (D) 6
103. RS AN 202 —5x +6 =0 I I (FEBI 76T (202 ¢

(A) 2 (B) 3 © 5 (D) 6
103. @i AT 202 —5x + 6 =0 @7 JAfoTq Geozret 2= ¢

(A) 2 (B) 3 © 5 (D) 6
103. 2x2—5x+6=0 SN FHHALEM ISTHR ISR

(A) 2 (B) 3 © 5 (D) 6
103. TEemd THRTOr 242 —5x +6=0 % Hall 1 OFHA &

(A) 2 (B) 3 © 5 (D) 6
104. Which is the odd one out of the list ?

(A) Chapters (B) Preface (C) Index (D) Book
104. 5 OIfererS (G e 2

(A) SR (B) Il Q) ! (D) fFeivl
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104. SifeR (N s a1 Ko 2
(A) SR (B) ¥¥&= ©) BT (D) R

104. TR W@ AR fog -
(A) @l (B) M BRA™ (C) @i wR (D) fosa

104. TR H IR A ISR ?
(A) HAHH (B) &Il (C)  STIhHTUIhT (D) Y&

105. At a class test for 50 students, the average score was found to be 45.5 out of 100. Upon checking,
it was found that an incorrect data-entry had occurred where 85 was incorrectly entered as 58.
What should be the correct class average ?

(A) 54.50 (B) 46.04 (C) 46.40 (D) 55.40

105. 50 T PRI G5 (AT 2 TFIF 100 THI [S0T© AN 51T T71 (22 45.5 | SIS (7L 9'F (T GBI 92y
SEGEO 85 F 129 TAF 58 I 799 TBOE 4| (7| (RTCHTS 2% T W Gl w2t Tfoe 2

(A) 54.50 (B) 46.04 (C)  46.40 (D) 55.40

105. 37> (=T AT 50 T FERLIE oG AR ((FE) 100 9= N7 45.5 2GS T | ST (7l - @
G5 T SR SR TCHE, (T 85 TSI 58 R 2t T 2R (RN A 91T F© 2eq
Thw ¢

(A) 54.50 (B) 46.04 (C) 46.40 (D) 55.40

105. 91 50 HOFERRM &l STHSIeE 2™ TS W 100 3 45.5 | AREAEE AHemEe @i Se-mEme
TRifrerd 85 Wit 58 feRAT SRl | ARG o TgeT o1 ST 2

(A) 54.50 (B) 46.04 (C) 46.40 (D) 55.40

105. 50 SEI % Teh &l T H Hef 1 3I9d @RI 100 § 9§ 45.5 I =11 Sii9 w9, I8 90 7491 6 Th
Tt S-St g o, &1 85 1 TTefdl ¥ 58 % ¥ H qol fohdl T o1 | W& hedl a1 BT ey 2

(A) 54.50 (B) 46.04 (C) 46.40 (D) 55.40
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106. Siachen in Ladakh is an example of :

(A) Cold desert (B) Glacier (C) Plateau (D) Snow mountain

106. SICI4F BATH (FIFEOR GF SHIzIe ?
(A)  #res T=gfi (B) fzwiz (C) weTgf (D) VIRES AR

106. FWICAA o Twigae == ¢

(A) dermwgl (B) fow (C) weTgf (D) 9~
106. weRa faamen 9Hg T fafefer
(A) T ST g (B) W Tl (C) <A (D) X% STSHT

106. @@ | feerq faanfem sqem ST ¥
(A) e A (B) fegue (C) W3R (D) ¥Hid TR

107. Which of the following mountain ranges is in Jammu and Kashmir region ?
(A) Pir Panjal range (B) Satpura range
(C) Dhauladhar range (D) Mishimi Hills

oo

107. T O I ST RS @I siFewe o 2

(A) TR Agie siFee (B) ATsA siFeal
Q) (TN Aol (D) ol siizR

107. THA & *FoETif o @ IR S1eete w1fFe 2

(A) TR SAlgle oo (B) el siFer=d
(C) (T siFerudft (D) fuffsr »te

107. 5 TS TAREn 979 TR SRR SAHHed ?
(A) TR o= g falk (B) &dqy Bl faRk
(C) R = fafk (D) fafafe s
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107.

frefafed & 9 HH-5 vdd o s iR HeuR &7 § §2

(A) IR 9T goit
(C) dreur Joft

(B)
(D)

g it
Tafert goft

GET IT ON
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108.

108.

108.

108.

108.

The sum of the roots of the quadratic equation 2x>—5x+3=0 is :

(A) 2 (B)

e TR 232 —5x+3 =0 TN (SO I (A (2 ¢

(A) 2 (B)

3
2

3
2

(©)

(©)

aifS A6t 2x2 — 5x +3 =0 @ =R TS & ¢

(A) 2 (B)

3
2

©)

>
2

>
2

2
2

2x2 —5x + 3 =0 SR FHAAMEM USTHRA TSI

(A) 2 (B)

|
2

(©)

fgema FHIERROT 242 —5x +3=0 % Heil T AT T :

(A) 2 (B)

3
2

©)

F
2

N o

(D)

109.

109.

Who or What is Doraemon ?
(A) A river in Brazil
(C) A type of aircraft

(OIS & S (@ 2
(A) Fifeem G il
(C) R 95! =T

Paper-IV/IA
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109. (SIES & AD! 2

(A) alfeer «3fG 97 (B) ZfeioT @ wferTel
(C) «F Lo R (D) &% FH 5@
109. AT GR Tl 7 ?
(A) SfSTert (B) wfagef wafefufifi
(€) AER sy (D) W HIEA-3Tg
109. SRHM HFA T A FTE?
(A) SIS i Tk et (B) Uk Bledlgs Afa
(C) T YR i fomM (D) e ied 9RA

110. In which sport did Monalisa Baruah (Mehta) and Tridib Duarah represent Assam ?
(A) Badminton (B) Volleyball (C) Taekwondo (D) Table Tennis

o o

110. (FERY (4TS TEAS! 941 (TNZS!) O TG =12 s afsffag s 2
(A) @G (B) SHRe (C) B[ (D) (531 (5

110. CNIfeT T2 (CNCR®)) =% fafwa g2l (i (Lot SPiee afsfag s ¢
(A) TIeRT (B) SfeRE Q) SRR (D) BRE @R

110. FIferEn e (Fedr) R ffea gorren 96 SREeREEeEE! STHM M o ?
(A) defa=d (B) fctaret (C) dmE FMg’ (D) dfea df|

110. Hriferan s%eT (Fgdr) iR ffea e 3 fvm @a # stom =1 wfaffue fhan ?
(A) defieq (B) afchalra (C) el (D) <oa fa

111. A person borrows a sum of X 1,00,000 at a simple interest of 6% per annum for 2 years and invests
the amount at a compound interest of 6% per annum for 2 years. After returning the borrowed
amount with interest, the person earns a profit of :

(A) 360 (B) 120 (C) ¥ 480 (D) ¥ 240

111. GG N2 IRE 6% ATe J0% < 1,00,000 53 2 T2 AT LIFCHA o1 S T2 6% bargian Yo 2 I A
13 41 Rl FRET | Q=0 @R 4 FCe-S0 SAfReid TR 21Ee TS Sew 41 9 #e] 2/ el 2z 2

(A) 360 (B) 120 (C) ¥ 480 (D) ¥ 240
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111. &3 & 2 IFF T AF 6% 2 76 I  1,00,000 I 417 (717 3R (372 5Pl 2 T& Sy JA1HF 6%
2@ 5a(a 7 RIS S | 9 72 417 5 (e (e 7)1 Jfe(ta SIfers #1re 21 2

(A) 360 (B) 120 (C) ¥ 480 (D) ¥ 240

111. 9 AT SERIR 6% R TR G2 BHF =R 2 f1 omam 2 1,00,000 3 SRR oM SRR 6% 81
SRS Ge1'a SrER 2 1 o T €A SRR aEE T8 Esi arie e o iR s Jarew
ST ?

(A) 360 (B) 120 (C) ¥ 480 (D) ¥ 240

111. TS Afdd 2 91T & T 6% Wfqad & R0 =419 W T 1,00,000 it A SUR AT © TR 37 AW 1 2 91T
% feru 6% afqad & =wshafs = W o9 L €1 SR o T T = Gfed dier W Sfad o @y g
T

(A) 360 (B) 120 (C) ¥ 480 (D) ¥ 240

112. Identify the correct mirror image of the figure.

—>

(A) (B) (@) (D)
— — <— —

112. 2a foaq W& witollel AfsR=en! e 75 |
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112. =ve foraa woltag A afely S e e |

112. 3EAMEE R sEfe et 9ra’

112. 3Tehfd sl H&I YU Bf vg=H |

—>
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113. Which of the following is an award exclusively for music industry ?

(A) The Oscars (B) Emmy Awards (C) GoldenGlobe (D) Grammy Awards

113. WRERS @G AT SWlR O SNPSR Jb1 2
(A) IHR (B) «fi @Sy Q) CNTT (2 (D) (ol @ Iy

113. SIGA @G ReEoi e MR it S7=E 2
(A) SER (B) @ s7=im (C)  (aNT=A (2 (D) el 5=

113. TREM & FFATE SHA™E - SIfEAsial’ T € 2
(A) ITERRE (B) TH TaeH (C) Teed o (D) U TEEw

113. fr=fafed § @ ®F- R favm 9 § g e & fag g2

~

(A) AR (B) THI J&hR (Q) Tiieed T (D) U qERR

114. A person purchases x number of items at the rate of X x per item. The shop-keeper gives him a total
discount of I x after which he pays X 156. The cost per item after the discount is :

(A) %13 (B) %12 (C) %16 (D) % 14

114. G TR T x TIS x FRAF AT TFF FIRCA | FIPRIGTE (O€F I T x 7RI (@22 2 F919 A1ge (9
% 156 #IfReeliy SReeT | (S22 2viE 2i12s AfSCo! ARTN FE) (202 ¢

(A) %13 (B) %12 (C) %16 (D) %14

114. ST GG x ALYE AN T x 2@ G FE | DTN OItE (6 T x BT (WSTF #19 (1 2 156 AReN 3= |
QA #7 2fofb AT e 2 ¢

(A) %13 (B) 12 C) T16 (D) %14

114. 9 AHEMGAT x GATRRG! HHEAE T x 99T S a1l | BEIE foe) <19 T 1 T @™ gt 3Aa fod 2156
T GHIE | ™ A 3AE G- ganf o8 o ?

(A) %13 (B) %12 (C) %16 (D) %14

114. T Afd T x Ufd 3TgeH & W 1 3MEeH TASA 81 THAGR U FA T x I B2 a1 © 16k 918 98
% 156 1 T @ &1 B & IG U TEeH i AN © -

(A) %13 (B) 12 C) T 16 (D) %14

Paper-IV/IA 61 P.T.O.


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247

115.

115.

115.

115.

Which type of Democracy is presently being practised in India ?

(A) Direct Democracy (B) Representative Democracy

(©) Social Democracy (D) Totalitarian Democracy

TSI SO (FIRKER 0T AbleTe 2

(A)  AG5F olTeF (B) efsifagyer ooz
(C) AWIE aicrog (D) SRR 9icoF
TE SIRCS (F LR /07 2bfeTo 2

(A) oo oloreg (B) afeffxgyers sreg
(C) IS slereg (D) SRR alerem

sTforaTerd WRaE J1 QWA gg@rt-o T HiHl 2

(A)  disii ggufe (B) o< ggaru
(C) TSR gg@f-=r (D) 9 TSR e«

GET IT ON
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115. YR ¥ o9 # ford gehR 6t o6 yafed € 2
(A) Y& ks (B) wfaffy efrehd=t
(C) HmHISIh drehd (D) SAfYHeheTal rehdsl
e (o - [B - [
" V729 144 81
7 20 5 11
A — 3 B ~ 5 © 3 3%
116 o — |2 - [0,
" \729 144 1
_7 _2 _5 1
(A) 12 () 27 ©) 9 36
" V729 144 1
7 20 5 11
(A 15 B) ~ 5 © 3 3%
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e B[ _[E_,
" \N729 144 81 )

N 5 -2 o -5 o -1
®) -4 ® - © -3 D) -5
e, B _[B_ 6 _,
" \N729 144 81 )
R 5 -2 o -5 S
®) -4 ® - © -3 0) -5

117. Which of the following is incorrect in regards of the ICC Men’s ODI Cricket World Cup ?
(A) India has won the Cup twice.
(B) Australia has won the maximum number of times.
(C) England won the Cup in the first tournament.

(D) Bangladesh has never won the Cup.

117. =2l 71 =iTwE Ruis Fes T=F R MEfiie @wo ofe awg 2

(A) ©RCS G2 F7 R TS FECZ |

(B) SIEFmiE AR a1 TRee SRz
(C) el BT Be0e @3 ol Teie Ffafea |

(D) JETTEH GBI (oS THere 11 T

117. 2F90a NP0 ofewiz faas Rusist i i @i o0t ey 2
(A) SR 7aF 92 F7l fErez |
(B) SR A A ferrerz|
(C) TeTe A Aferifarer farerz|

(D) IRFACH FUTE TS I |

Paper-IV/IA 63 P.T.O.


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247

117.

117.

GET IT ON
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FETRRM ICC ODI fshehef™ Jgal 1T Wi TR 2F™ 96 fagforn o 7T ?

(A) YRl UG G TEHI S |

(B) referan a1 sAfRge Fife @ T@E |

(C) fifafem TAfA=ra Soi S@RI |

(D)  SCITSEN AISTSTS L@ S |

3ME L E. 20 U feadia iaieda fohehe fova v & Hed # frafafed § 4 -1 e €2

(A) 9RA T FR FHY S S|
(B) sifeforan A Tol ST aR Sfiq Sifad i

(C) T A H $reie A Y Sfm o |

(D) wiTerest A ot 9 T e g

118.

118.

118.

118.

118.

In which country was Christopher Columbus born ?

(A) Spain (B) England (C) Portugal

@I (S FIBFR FeTIRS & N (2fe ?

(A) iz (B) @ (C) ISalls

TFEGITR TN (W (e STAD FE 2

(A) IS (B) 2xemie (C)  corgane

fohed "R Shel e SIFM BG4 STed -

(A) ¥ (B) o= (C) g
oI hicierd o1 7 fohe <91 H g1 o1 ?
(A) oA (B) 3w (© gam

(D) - Italy
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119. How many times has Brazil won the Football World Cup ?
(A) Three (B) Five (C) Four (D) Seven

119. RPIFI5 O (X7 JIECE B I TS FRCZ 2
(A) fofa= (B) ol (C) vifa= (D) AR

119. IS IR FHAER eI fErerz 2
(A) fo (B) o ©) o= (D) e

119. ST g1 Fead HTIE! TIE XM Bl ?
(A) &9 (B) @A Q) ®d (D) @ fH

119. ISTE 3 Fedra fava w9 fohaet IR Sfar & ?

(A) = (B) = (C) =R (D) ¥

120. Which of the following diagrams best represents Writers, Teachers and Musicians of our society ?

(OO e

S N ey o o

120. FEFEARS @G B9z N TT @TF, BiF i< 375 o 7w ey ol afeRiag sa ¢

(OO
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120. =2 @ I’ SN TSR @1F, G35 08 AAACE SIS THZI7 T 2

« (O)O

120. <& Qe Sifq THSIH feRREeR, FRIFRER 3 SEifiRere: gefas feferm ?

« (O @

(D)

120. fr=fafea § 9§ o @ fo5 TAR GAS1 6 @i, Rieenl 3 Gitaerrl o1 Terd 1=31 yfdffuc ot & ?

2@)le
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121. Who has been honoured with Assam Baibhav in 2024 ?
(A) Ratan Tata (B) Ranjan Gogoi
(C) Tapan Saikia (D) Ranjit Shekhar Mooshahary

121. 2024 IF© FIF SN (TSI T AW 91 1202 2
(A) T B! (B) & ital
(C) ol =ZF (D) 3fge << @R

121. 2024 AT FICE ST (S A vl 1 2CACR 2
(A) o GBI (B) & aital
(C) oo =ZFm (D) g o2 PR

121. 2024 HRAEM AEMH 999 AHEE GRAT AME SIG) 2
(A) TH T (B) TSHTTE
(C) 9 Hefeha (D) ITd ISR FRER

121. 2024 ¥ 3199 dve ¥ ford grifag fehan = & 2
(A) T T (B) IS TIrIE
(C) Tu feran (D) IS I qERR

122. A geometric figure has two pairs of parallel lines, intersecting at right angle. One pair is of length
8 cm each, and the other pair is of 6 cm. If the longer pair size is increased by 2 cm each, while the
shorter pair is reduced by 2 cm, which of the following statements is correct ?

(A) Area of the figure decreases (B) Perimeter of the figure increases

(C) Perimeter of the figure decreases (D) Area of the figure increases

122. (A @F TFeF Hae TS (F FAE TR ANTINE @G (2| 3@ GRS AfSGR 0
8 (5.1, S SR e 6 5.8, 1 3w W (199 AT efSi 2 6. 3 3 e 5t @ afe
2 (5.5 T g1 391 =7, (o8 Ml (@ Sfe wa 29 2

(A) TBawE CFawe g 27 (B) @R sl Ifw “I
(C) Toarh =T 2™ =ik (D) AR Faws I 2K
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122.

122.

122.
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«3f5 Tifsifes fora 12 (ool ST @4 SitE, T AN (F FE | @0 (eroR adfea o 8 Eifil.
G} B (ST 6 @A | I o791 (weR «fslbeE 2 1R w 3fds w21 27, et (@0 (e ¢Feg 2 G

IR TN 2T, OIFEA A (@ [Jfefb 7o 2
(A)  Tormm Fifer gt wAE (B) Totam «ikfd Ihw i@
(C) Toram ~fifa gt #iica (D) oram sifet I =iiea

T BTN Aefeemr e S| § 60 gEer @'ty @41 AH A9 AR ST deeE o 8 1.

3TREE SR 6 9.0, | fe arafed s 2 9.f. wrerer SeE SR giee st 2 9.8, S s,

37eeTl ool forgiforan e ?
(A) TR e TH st (B) ERFIfS fommn anm aret
(C) ERffS fommen wH Srerret (D) hiferdn I TS

Teh ST 3Thfa § THIR W@ei & & SIS B €, Sil HHhIU TR Ufd=se d 8 | T SISl ot afars 8 At

, 3R TEd SIS Fi e 6 T T 1 AR Tl SIS BT Yekeh § 2 At g S 8, etk B S hl 2 FH HH

fepar tran ®, ot frfafed § 9 e o1 oA e g ?
(A) TR H FAFRA T2 S g | (B) 3Tt o1 TR Sgd T |
(C) 3Tehfd 1 UfETd = 2| (D) 3Th{d Sl &A% dedl ¥ |

123.

123.

123.

123.

123.

Which of the following places does not host IPL matches ?
(A) Mumbai (B) Dharamshala (C) Patna (D)

fsffe @R g IPL (S13f795) GHomz SHfos 92
(A) TR (B)  x=relrel (©) Mo (D)

TIOA (P SN IPL (S2fo4aT) -7 (4eT Sefore 27 =11 2
(A) TR (B)  «sfiiei (C) =I5 (D)

T o SR [PL (3TRYNa) 4 Seres-mn S ?

(A) T (B)  ERERITE (C) T (D)

frefafad § 9 siH-91 M IPL (AENTA) J=i 1 AStem T8l ohidl  ?
(A) Hes (B) eIl (C) T (D)

Hyderabad
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124. Who is the Director of the movie “Village Rockstars” ?

(A) Rima Das (B) Hima Das (C©) Munin Das (D) Queen Das
124, “fo0eTe TFBRR” AT @R 4 [FoME @9 2

(A) A (B) =i (C) T WA (D) &AW
124. “fSCeTe TG Bl Las 2IfRbIes (& 2

(A) s wm (B) feani wmd (C) = wA (D) A TR
124. ‘' fyors R’ g7 "ayAt Seafifen 9r?

(A) fome™ (B) Tewmzm (C) ¥ =™ (D) %1 T
124. ‘‘foors Yerter"' fihed o fagers &b €2

(A) T (B) Tewmzm (C) HfH =™ (D) &1 T
125. Apart from Jaipur, which was the home ground of Rajasthan Royals during IPL 2023 ?

125.

125.

125.

125.

(A) Guwahati (B) Dharamshala (C) Bhubaneshwar (D) Panaji

NG 2023 T (RS AGTZF TR 1941 (LT G IR0 S (i< oiifest 2

(A) @b (B)  &<aTelfal (C) PTG

T WO (PG SNEfFae 2023 @ AN ASTEIN TECE [EE WS T 2

(A) ol (B)  &sfileTi (C) TR

(D) ARG

(D) ARG

SR ST, 2023 FEAEA [PL 1 6@ TS IheHt faeman aemE ?

(A) TETRR (B)  EXHEITC (C) TR

(D) UM

STEUTUE 2023 % SNM, SR 6 TS TS Taed 1 Be] HEH hiA-91 o1 ?

(A) TETRR (B) eIl (C)  HaTTR

(D) UTSH
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Change the following (126 & 127) into passive voice.

126.

Previous climbers had cut steps in the ice.

(A) Steps had been cut in the ice (B) Steps were cut in the ice

GET IT ON
Google Play

(C) Climbers cut steps in the ice (D) Steps cut in the ice by climbers

127.

No one can do anything unless someone gives us more information.
(A) Nothing can be done without giving information.

(B) Nothing can be done unless we are given more information.
(C) Nothing can be done unless someone gives more information.
(

D) Nothing can be done without information.

128.

Which word from the following is similar to beckon ?

(A) light (B) beg (C) motion (D)

hear

129.

Which of these words is closest in meaning to the word kin ?

(A) exult (B) twist (C) friend (D)

relative

130.

What would be the synonym for the word educe ?
(A) demand (B) elicit (C) ideal (D)

unlawful

131.

Choose the sentence that correctly communicates the meaning in the following sentence.

(A) Barua was usually able to catch the six thirty-five train from Guwahati

(
(C
(

)
D)

B) Barua was usually able to catch a six thirty-five train from Guwahati
Barua was usually able to catch on six thirty-five train from Guwahati

Barua was usually able to latch the six thirty-five train from Guwahati

132.

Put the verb in brackets into the present perfect tense, and fill the space by repeating the auxiliary.

Where you (be)? —
I (be) to the dentist.
(A) have you had, I have been (B) have you gone, I have been

(C) have you been, I've been (D) went, I went
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Read the following passage and answer the questions (133-136) that follow :

The Okapi, a forest mammal of Central Africa, has presented zoologists with a number of difficult
questions since they first learned of its existence in 1900. The first was how to classify it. Because it was
horselike in dimension, and bore patches of striped hide similar to a zebra’s (a relative of the horse),
zoologists first classified it as a member of the horse family. But further studies showed that, despite
Okapis’ coloration and short necks, their closest relatives were giraffes. The Okapi’s rightful place within
the giraffe family is confirmed by its skin-covered horns (in males), two-lobed canine teeth, and long
prehensile tongue.

The vital question concerned the size of the Okapi population. Because Okapis were infrequently
captured by hunters, some zoologists believed that they were rare; however, others theorized that their
habits simply kept them out of sight. It was not until 1985, when zoologists started tracking Okapis by
affixing collars equipped with radio transmitters to briefly captured specimens, that reliable information
about Okapi numbers and habits began to be collected. It turns out that while Okapis are not as rare as
some zoologists suspected, their population is concentrated in an extremely limited chain of forestland
in north-eastern Central Africa, surrounded by savanna.

One reason for their seeming scarcity is that their coloration allows Okapis to camouflage themselves
even at close range. Another is that Okapis do not travel in groups or with other large forest mammals,
and neither frequent open riverbanks nor forage at the borders of clearings, choosing instead to keep to
the forest interior. This is because Okapis, unlike any other animal in the Central African forest, subsist
entirely on leaves: more than one hundred species of plants have been identified as part of their diet, and
about twenty of these are preferred. Okapis never eat one plant to the exclusion of others; even where
preferred foliage is abundant, Okapis will leave much of it uneaten, choosing to move on and sample
other leaves. Because of this, and because of the distribution of their food, Okapis engage in individual
rather than congregated foraging.

But other questions about Okapi behaviour arise. Why, for example, do they prefer to remain
within forested areas when many of their favourite plants are found in the open border between forest
and savanna ? One possibility is that this is a defence against predators; another is that the Okapi was
pushed into the forest by competition with other large, hoofed animals, such as the bushbuck and bongo,
that specialize on the forest edges and graze them more efficiently. Another question is why Okapis are
absent from other nearby forest regions that would seem hospitable to them. Zoologists theorize that
Okapis are relics of an era when forestland was scarce and that they continue to respect those borders

even though available forestland has long since expanded.
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133. The word hide in the first paragraph means :

(A) smell (B) evade (C) skin (D) land

134. The function of the third paragraph is to :
(A) pose a question about Okapi behaviour
(B) rebut a theory about Okapi behaviour
(C) counter the assertion that Okapis are rare

(D) explain why Okapis appeared to be rare

135. Okapis stay within the forest interior. The passage relates this to the of the Okapi.

(A) scarcity (B) mind (C) culture (D) size

136. Zoologists assume that Okapis are relics and they respect the forestland borders. It means :
(A) Okapis are humanoid creatures
(B) They are culturally inclusive
(C) They communicate with other bordering creatures

(D) None of the above

Read the following sentences (137 & 138) and try to choose the best definition for the italicized word by
searching for context clues in the sentence.

137. Mr. Powers was so gullible that he believed even the most outlandish excuses of his insincere
employees.

(A) intelligent (B) naive (C) dishonest (D) critical

138. The new shipping and receiving building is an expansive facility, large enough to meet our growing
needs.

(A) obsolete (B) meagre (C) spacious (D) costly
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Read the following passage and answer the questions (139-142) that follow :

Today, bicycles are elegantly simple machines that are common around the world. Many people ride
bicycles for recreation, whereas others use them as a means of transportation. The first bicycle, called a
draisienne, was invented in Germany in 1818 by Baron Karl de Drais de Sauerbrun. Because it was made
of wood, the draisienne wasn’t very durable nor did it have pedals. Riders moved it by pushing their feet

against the ground.

In 1839, Kirkpatrick Macmillan, a Scottish blacksmith, invented a much better bicycle. Macmillan’s
machine had tyres with iron rims to keep them from getting worn down. He also used foot-operated
cranks, similar to pedals, so his bicycle could be ridden at a quick pace. It didn’t look much like the
modern bicycle, though, because its back wheel was substantially larger than its front wheel. Although

Macmillan’s bicycles could be ridden easily, they were never produced in large numbers.

In 1861, Frenchman Pierre Michaux and his brother Ernest invented a bicycle with an improved
crank mechanism. They called their bicycle a vélocipede, but most people called it a “bone shaker”
because of the jarring effect of the wood and iron frame. Despite the unflattering nickname, the vélocipede
was a hit. After a few years, the Michaux family was making hundreds of the machines annually,

mostly for fun-seeking young people.

Ten years later, James Starley, an English inventor, made several innovations that revolutionized
bicycle design. He made the front wheel many times larger than the back wheel, put a gear on the
pedals to make the bicycle more efficient, and lightened the wheels by using wire spokes. Although this
bicycle was much lighter and less tiring to ride, it was still clumsy, extremely top-heavy, and ridden

mostly for entertainment.

It wasn’t until 1874 that the first truly modern bicycle appeared on the scene. Invented by another
Englishman, H.J. Lawson, the safety bicycle would look familiar to today’s cyclists. The safety bicycle
had equal-sized wheels, which made it much less prone to toppling over. Lawson also attached a chain
to the pedals to drive the rear wheel. By 1893, the safety bicycle had been further improved with air-
filled rubber tyres, a diamond-shaped frame, and easy braking. With the improvements provided by
Lawson, bicycles became extremely popular and useful for transportation. Today, they are built, used,

and enjoyed all over the world.

139. The first person to use a gear system on bicycles was :
(A) H.J. Lawson (B) Kirkpatrick Macmillan

(C) Pierre Michaux (D) James Starley
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140. Which of the following statements from the passage represents the writer’s opinion ?
(A) The safety bicycle would look familiar to today’s cyclists.
(B) Two hundred years ago, bicycles didn’t even exist.
(C) The Michaux brothers called their bicycle a vélocipede.

(D) Macmillan’s machine had tyres with iron rims.

141. Read the following sentence from the fourth paragraph :

Ten years later, James Starley, an English inventor, made several innovations that revolutionized
bicycle design.

As it is used in the sentence, the underlined word revolutionized means :
(A) cancelled

(B) changed drastically

(C) became outdated

(D) exercised control over

142. Macmillan added iron rims to the tyres of his bicycle to :
(A) add weight to the bicycle
(B) make the tyres last longer
(C) make the ride less bumpy

(D) make the ride less tiring

143. Find the analogy of the relation between the words from those given below on the basis of the
indicative uppercase word-pair preceding the choices.

SHELF : BOOKCASE
(A) arm:leg (B) stage : curtain

(C) Dbench : chair (D) key : piano
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144.

This application was written a pen.

(A) by (B) with (C) off

GET IT ON
Google Play

145.

Choose the correct pair to fill up the blanks :
He put some on the hinge, so that it should not
(A) oil, squeak (B) water, spill

(C) colour, stand (D) paper, seat

146.

Read the following passage and answer the question that follows :

Light pollution is a growing problem worldwide. Like other forms of pollution, light pollution

degrades the quality of the environment. Where it was once possible to look up at the night sky

and see thousands of twinkling stars in the inky blackness, one now sees little more than the

yellow glare of urban sky-glow. When we lose the ability to connect visually with the vastness of

the universe by looking up at the night sky, we lose our connection with something profoundly

important to the human spirit, our sense of wonder.

The passage implies that the most serious damage done by light pollution is to our :

(A) art history (B) sense of paleness

(C) cultural advancement (D) questing spirit

147.

Everyone admired his courage.
(A) at (B) of

C) for D) no word required
©) q
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Read the passage and answer the questions (148-150) that follow :

Reality for human beings is not action or feeling but meaning. Humans are symbol using creatures; a
symbol is anything that carries a particular meaning recognised by the people who share culture. A
whistle, a wall of graffiti, a flashing red light, a fist raised in the air—all serve as symbols. We see the
human capacity to create and manipulate symbols in the various ways a simple wink of the eye can
convey interest, understanding, or insult. We are so dependent on our culture’s symbols that we take
them for granted. Often, however, we gain a heightened sense of the importance of a symbol when
someone uses it in an unconventional way. Entering an unfamiliar culture also reminds us of the power
of symbols; culture shock is nothing more than the inability to “read” meaning in one’s surroundings.
We feel lost, unsure of how to act, and sometimes frightened —a consequence of slipping outside the
symbolic web of culture. Culture shock is both what travellers experience and what they inflict on
others by acting in ways that may offend them.

148. How is reality defined as in the passage ?
(A) meaning (B) action

(C) feeling (D) web

149. In the context of the passage, which of the following does not serve as a symbol ?
(A) whistle (B) graffiti
(C) flashing red light (D) culture shock

150. In the context of the topic of the passage, when do we feel lost, or frightened ?
A)  When we lose in a competition

B

~—"

(

( When we slip outside the symbolic web of culture
(C) When we cannot locate our action
(

D) None of the above

-00o0-
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